Never Stop Always Run

DFL NSAR®BEARINGS MANUFACTURE CORP.
HEBEI DFL MINMET REFRACTORIES CORP.

1111-1113,Sinotrans Building ,No.368.,North Youyi Street,Shijiazhuang
City,050071 China

Tel.:0086-311-87795806/87790166

Mobile:0086-13703117241

Whatsapp:0086-13703117241

Skype:dfisales

QQ:740283153

E-mail:dflsale@nsarbearings.com

http://iwww.nsarbearings.com

EIZRNSAR® HFASIET

LRk R ARAR

PEETIEE AR EH X ZELAH#368 S PEAE1111-1113E
i B 47 85:05007 1

#11%:0086-311-87795806/87790166

F#1:0086-13703117241

Skype:dfisales

QQ:740283153

Hi#8:dflsale@nsarbearings.com

http://www.nsarbearings.com

DFL NSAR BEARINGS MANUFACTURE CORP.




http://www.nsarbearings.com

NEVER STOP ALWAYS RUN

PCONTENTS

iR ERBFLRENE RINGS AND ROLLING ELEMENTS P3
FrihEFn# 48 SHIELD&SEALS P4

Our brands
EEREARLUTAERRERERLATAAERERMINEALT, THE 3] L c
LnaEn, ReRTENn, T, 2RSSR, etk
FHiEfT1S09001: 2008 R Ei i ¥ ® S —i
DFL GROUP was established on the basis of Hebei DFL Minmet Refractories Corp., OWG @ =< iE[] *ﬂ: “—4‘-: PACK' N G AN D MARKS P7
now this group include DFL NSAR Bearings Manufacture Corp., Hebei DFL Minmet CcBQ®* A
Refractories Corp.,CODO Group Ltd. (Hongkong) and NSAR IND LLC(USA).DFL . hAA N BEARING TESTING P7
GROUP running IS09001-2008 quality system. NASA
3D%——— Delicate AoaTkidA& DEEP GROOVE BALL BEARINGS P9-14
RARIBLNMEN : EETIE Elligem oas
. 5| FE TAPERED ROLLER BEARINGS P1715-20
Our Core Value : Sowing the seeds of good karma Davelopment s T 2.
- VIR 7 SPHERICAL ROLLER BEARINGS P21-25
SN R, S, K e e R, S
L ; earings Manufacture Corp. e
7 T, BAABAZORLE, RARRBRERNEE, NE i T EEA PILLOW BLOCK BALL BEARING P26-31
fa : TR NSAR®, 3D®, OWO®, CBQ®, NASA®,
3 t NS %u.- - ¥
DFL NSAR Bearings Manufacture Corp. is one of the largest factory of standard | ﬂbf ?}Tﬁﬁnﬁﬁ:ﬁﬂmmes Corp. H:Jﬁﬁ 5% i Emﬁ( ROD END BEARINGS P32-39
bearings in China, the main products includes deep groove ball bearings, tapered EREEHR A SEL
roller bearings, spherical roller bearings,wheel hub bearings, needle bearings and DFL GROUP gf’i'il'} E] Frjl LINEAR GUIDEWAY P40-43
pillow block ball bearing etc., meanwhile it also develops and produces British-system F#HCODOAR]
and non-standard bearings to meet customers’ requirements. The administrative staff, | he 73
engineer and technician has been in this industry for more than 20 years,the factory CORDNC PR ko) "ﬁ%l- $EHJ¥( N EEDLE ROLLER BEARlNGS P44'51
has its strictly quality control system, that is the guarantee to provide qualified S
products with competitive prices.Our brand includes NSAR®, 309, OWO®, CBQ®, and BETRERAT ®EEHA WHEEL HUB BEARING P52-56
NASA® NSAR IND LLC. (USA)

FAEERMHEARAFRAR—REUESMHE~NAZ LR, RA20FL LY

Mlats, EHFERHLTME—EE. TE-ROEMWR, BT =&, TA
MEEME, AHGE. TiLERRSRERAFAZEERLTLRNIRLSEE
LF.
Hebei DFL Minmet Refractories Corp. is a professional and comprehensive corpora-
tion which based on production and trading business, it has more than 20years export
experience, DFL is the only director company of TVA ( The Vermiculite Association)
in Asia. Besides bearings, the corporation also covers the products and service of
non-metallic minerals,refractories and insulation products,culture stone and stone
carving products. So Hebei DFL Minmet Refractories Corp. is the foreign trade
operating corp. of DFL GROUP.

it Stales of er”rd

NSAR

CODOARR—RUTEFHEN T IR REENSAMNEEALT

CODO GROUP LTD is one of the most professional investment management teams
and comprehensive group companies in Hongkong.

REIRARAARERREALETAR, LTEERFN. RERETHES
RAFRESEANESAREEREASRABNXE, EERDELTMMILIIE
z.ﬂﬂﬁﬁﬁﬁ*)ﬁﬁﬁ/‘é‘ﬁﬂ%. HERFREAEEMNPRFRSORT TEILN

NSAR IND LLC (USA). is a South Carolina-based company and wholly owned by DFL

LA =l
group .now NSAR IND LLC (USA). has become the strategic key for the parent f%ﬁ%%
company, DFL group, to explore the global market.By establishing and developing — -
NSAR, DFL group aims to gain essential marketing/management experience, which Ump i '"sam"""gs‘“mJ
serves as a solid foundation for DFL group to launch its Africa and Middle-East M

branches.




p://www.nsarbearing

NEVER STOP ALWAYS RUN

S g4 %% ADVANCED MANUFACTURING EQUIPMENT

IR Loading into container

A 3EE Final pallet packing

B3 PACKING

5% Painting for blocks

I ‘;jﬁﬁ

(@ NASA®

BALL& ROLLER BEARINGS EEARINGS

\ o—

oa
BEARINGS

BALL &ROLLER Bt

Ol

1 £AAHARN

Metallographic structure checking

HAMAFBAMAE, E2—HERBIERE.
REFBAEEOME . SEAMEEE, &
HRIAA S T B SNt RO RE A RATL T BERE T
SAEGHE, BWARREAGESERNER,
%ggﬁwﬁﬁeﬁﬁwﬁﬁﬁﬁﬂﬁmﬁME

Bearings steel and ordinary steel, it is a kind of used
in the manufacture of ball bearings, roller bearings
ring and steel.Compared with other steel, bearings
steel with higher and more uniform hardness and
abrasion resistance.The most rare is that of bearings
steel with ultra-high hardness at the same time,
have very strong elasticity.The assurance of hardness
can prolong the service life of bearings.

4. HIER N E R

Groove testing by the Profle instrument
NS SMHARSHNREER, ELE. BAE.
B WEELE . AR B . BIlESE.
BEEEME. BHE, WARIERRE. —
RSN CHUBHITHRRBAIRENE SRS
BI{ES, BEEZUEENE, FTFRAIHE
EE. BRSBENRBERITES.

It can measure the various kinds of bearings
components of the linear
shape,straightness,angle,convexity,logarithmic
curve,groove depth,groove width,groove shape,arc
and other parameters.With high frequency rate and
high accuracy,it can accurate and fast measure &
test for the object contour,two-dimensional
size,two-dimensional displacement.By this way,it
can control the accuracy of bearings & bearings
components effectively.

2. EFRRTHN

Diameter checking during grinding
production

R ERTIER TEAMAEEALL. &
TR SN AR E R TR SN R E L. B
EHRERE S RS IR, JURE
TEHEFE AR, SFEanis. 8
BRI, BahFME. BEMHEFIRSY, #iFE
NBFE LT BiSpRERRER TS5
M=, iR ERRER T AR .

CNC bearings grinding machine is mainly used for
grinding bearings ring inner diameter.CNC
bearings grinding machine is a multipurpose
manufacturing machine tools.The whole machine
tool grinding cycle are completed automatically,
including automatic feeding, automatic finishing
grinding wheel, the size of the automatic
compensation, automatic control, the operator
only needs a manual loading.CNC bearings
grinding machine is applicable to both single small
batch production, CNC bearings grinding machine
is also applicable to a large number of mass
production.

5. B f4 R~ Dimension testing for goods

ATRIEHRNRTIRE, EREERE, &
MNEBEEZF ISR R A ZR#TIH
M, RTHRERRK, RIESENEYEZE R
.

In order to ensure the accuracy of the bearing
dimension, before the final packing, we will to
check the appearance and dimension by our
quality inspection person with many years
experience ,to ensure qualified goods arrive
customer warehouse.

7. E ¥ Fatigue life testing

ol A ) {2 B T ) B ER R RER B 75 23
EEAKE, ENERANEEE. 0%
BERIBEESEE. XESHTHIREES T
FFT SR . BERSMT, RO =AM RI IR
gy v b oRE AN o | MRS b S
g;&ﬁﬁ@ﬁﬁﬁﬁ,Mﬁﬁﬁﬁﬂﬁﬁﬁ

3. EEMM Hardness testing

MARMAMEBRNAE, ER—FERGIER
B BEMMARERONG. SEMNEAL,
iMAMAE EEm BN INEE AR E
BEN. BAREHNE, BRARNERGEEEE
HREE, BEREAEM. EEARIEESE
KRR ERAS .

Chrome steel is different from ordinary steel, itis a
kind of steel which used in producing of steel ball,
bearings roller and rings. Compared with other
steel, Chrome steel have higher and more uniform
hardness and abrasion resistance.The most
important is that chrome steel have strong
elasticity,when it is have high hardness at the
same time. The assurance of hardness can prolong
the working life of bearings
ff Ry
- n 8 Q!. :

6. ¥RENFSM  Vibration testing

HARIRE SEFN, A xIRIR RS ST,
EIRSSMEERIBL RS, X RN R A T

BRHEE. B B PIRERNR O IREIEE
BFHRE (um/s), B ZAREN S0 B R B
BT RESEPNTRER, MnEXAEE
Z_Jﬁﬁ:ﬁﬂiﬁﬁﬁﬁ~ RE, RETHREMS

AP o

Bearings vibration and noise test,it can monitor
the bearings noise,while the external oscilloscope,
to monitor the abnormal sound & vibration
waveform; It can show the bearings vibration
velocity with low,medium and high frequency
RMS {m/s),the vibration detector can effectively
reduce the adverse factors in the process of
assembling.In order to control the finished
bearings vibration and noise effectively, improve
the bearings life.

It is use for measuring the bearings defect by
high frequency acceleration & vibration
measurement, |t can analysis the domain
waveform,FFT frequency to analyze the reason
part failure,through the detection of the
instrument,It can check out for the bearings fault
produced during the first production process,so
as to guarantee the bearings long lifetime

0c



VS EE Y ; http://www.nsarbearings.com http://www.nsarbearings.com

ih A& E B ARSI Rings And Rolling Elements frEFZEE Shield & Seals

& R AN GCr1 S 2 A BB MRNHMI ERRL, MBETFRERMNMARE, HN—RERMARIMTFERARES. NSARH# B2 5 = 2R FSPCCHHIAL, LRMAAISI-300THH. HHENRAHMT MR, HBmiay, &Rk, R
High carbon chrome bearing steel (GCr15) is the standard material for bearing rings and rolling elements, also stainless steel will be R BFEEATERIEL A,
used upon request. NSAR shield’s main material is SPCC, while stainless steel can be used upon request, Buna Nitrile is standard sealing material we
use, fluorocarbon, teflon and silicone seals are commonly specified for high temperatures.
GCr5HILE BB FRIT - BRI R B
The chemical composition of GCr15 is listed in the below tables: SEALING STRUCTURE OF DEEP GROOVE BEARING
me EmB#% (%) Chemical Composition(%) ”
SteelNo. | g C f Si $ Mn B P S & Cr # Cu % Ni

il

GCr15 |0.95-1.05|0.15-0.35 0.25-045 | <0.025 | = 0.025 |1.40-1.65| <0.25 <0.30

=)
-ﬁ; @Eﬁtﬁﬁﬁ %1"_15 + aaich t R JFiEm R EEE EMAEHE M EHE
S Cage Non-contact Sealing Ring Contact Sealing Ring Contact Sealing Ring
o 2z RZ RS, RS,
E=x i E Frfr LR LR xE EE HA T B
Country China ISO U.SA Germany Japan Sweden
FIMNBEOELBER R AN MELRNT (NeE)
hENE S COMPARISON OF OUR DUST-PROOF AND SEALING BEARING PERFORMANCE(REFERENCE ONLY)
Bearing Steel | GCr15 683/XVII (AISI)52100 (Din)100Cr6 (Jis)SUJ2 SKF3
No.
Edi0) Prmal (278D | dEEmMBEEHER (RZED BEMBRESR (RS)
Structure Cage Type(ZZ) Non contact Rubber Sealing Ring(RZ) Contact Rubber Sealing(RS)
. I EZEMEL, PrRRS1E, RS28IEZZ
i e : ! 5 Rom
9 Hetlon Torque Small Small Because of contact sealing, Models RS1
?ﬁ] * 71' 1{ = and RS2 are bigger than models ZZ and RZ
= = (%) Chemical Composition (%
Steel No. KRR (% : (%) A o o T MR IR
JISG3141 ﬁ& C :ﬁi Si £ Mn i# P S i% Ni iﬁ Cr ;I:;:orsr:z::e Good Good Because the limit of contact sealing
Bt =042 | = <05 <004 | <0045 | —— | = BeE B b zzmE HRZEMSS, {BRS1HFTFRS2E
Grease Sealing Good Better than Model ZZ A little better than model RZ but Model
RS1 is better than Model RS2
NSARMHA R IFEER A HO2R A K084 LM ESITE, WMREFWM. FELMENREREHENIFETEME, MNRBEBFEZER BrdtE R4F Lk ZZRF (B EMARZE TR | BF MLSHTMETHALER) , B
EAREN, REXBERERER. Dust-proof Good {£H) BetterthanmodelZZ,(couldbe RS28U4F FRS1E. _
NSAR cages adopt H62 Brass sheet & 08F cold rolling steel belt, however, in cases of corrosive environment, misalignment or high used in some dust environment) The Best (could be used in most dust
speed operation. Stainless steel, nylons or phenolic resins will be used upon request. ﬁ’?;;'g";?"t Model RS2 is better than
FrzkE TiE & RIF(elkA &4 T 18] LUER ) Good(could
) e g Water Resistance Unsuitable Unsuitable be used in splash condition)
& Q o G ERRE Iz -30°C to +120°C -30°C to+120°C
- .‘? @ L [ vt S = g .
“a - p- e @" T Range of application | Al
+ i ‘ ee > temperature

e UERIRARESKTERE, RIBRATE, MARBERBHAGKEAR, WAL XREEE, WEER, ESNSARMARKR.
Note: The description is for standard products only, However,the range of application temperature could be extended if you select cold resistant or hot

resistant grease and rubber.Please contact NSAR bearing if you have any special requirement.

03 o4



o '.'fj: http://www.nsarbearings.com

3SE58 Lubrication

SEBRERS AR The purpose and ways of lubrication

AR, RRAAGEMRNERCRE, FABENSER RN ESERARZWHMANES® .

The lubrication is very important , which will directly affect the function of bearings in working conditions,Whether the lubricant is

properly used will have a great effect on the life of the bearings.

SEIBBIEARM T The main functions of the lubrication

1.EBHAMN SRS, B/NEEFEER Lubricate moving surface of all parts to reduce friction and wearing
2 HEMANIBEEER H MR E~EMMRE Reduce the heat caused by friction of bearings
3. [FHAMRENIEME L B ARE LM, EKEANERAZES Extend the life of bearings by oil covering on raceway

4 $hABBGHEHBTL Prevent the bearings from dust and rust

HERAGEDR AN EES HAEEE, H—REEBROTRIUR:

The lubrication system of bearings includes grease and oil lubrication as follows:

[ ITEM f& GREASE 58 OIL

Z$t4E Sealing arrangement % Easy BER, FTEERHE Complex (need to maintain)
;E7B 148k Lubrication properties 4F Good EEIF Super

#3% Rotating speed {Ei%-FRiE Low speed to medium speed | thAJFHF &% High speed

SETETIRERR Lubricationreplacing BRI Complex &% Easy

jEEHyE S Lubrication's life 848 Storter 1 Long

AENHR Cooling effect 7 No
ZX[EHYEPS Filtration of impurities E3 Difficult

i (FEfFH) Good (need to circulate)
75 Easy

j@iBAE Consistent grease

FERR A MBAR — AR ER KRB A ®ANTE, WEERRENGRLEES, BRERAZ.

The grease will not be supplied again for a long period once filled and its sealing device is very simple , so it is widely used.
BB AMAEERHEMATHARIBEEH AN, URENTHIERESDBE, SR—EREH TR ERMETHEESR.
Fill the sealing bearings with grease in advance or add it inside the outer covering , and supply more or replace it after a certain

period. The grease can also be delivered by pipes to all parts of the machine if there are many parts to be lubricated.

SEBAERVIEFE® The supplemental quantity of the grease

SNEANERIE AR RN EHMERNTBUMAAAE, —BARZEEFR/3128E.

The supplemental quantity of grease is based on the structure and volume of the outer covering. In general, 1/3-1/2 of volume can be

added.
EREI A, DEEEREERALRETR, ZLUMEL, HMLGEE.

Watch out for the deterioration, aging and melting problems caused by the agitation heat when too much grease is added.

{ERTREMAR, ARLERYEAN, ABETERR2/3-1.

To prevent something coming into the low speed bearings, 2/3-1 of volume can be added.

SEBRERVAMNFEFNEH: The supplement and replacement of grease

BRI ESEREIABAXEBTINXR, TERAAMAR, HLIERFHEARRE, HFIEHLIMNEIFINEA.
The supplement and replacement of grease is closely connected with the lubrication system.Whichever way is chosen,clean lubricant

should be used and anything should be stopped from coming into the bearings.

A FERERBE R A E—mahB RSB RS .
The brand of supplemental grease should be the same.
AFEEBARE, LAEENR N RIEREE ISR HE A8,

It is important to assure the grease has not leaked into bearings.

05

SHSEAE Oil lubrication
iR ER TREMAF AN —EREENSR, MAENE/NMEAFAERRESEYN, AZBTREETERNAE. MEFXES A:
Qil lubrication is used in high speed bearings and resist the heat.lt can reduce the vibration and noise, generally used where grease is

not fit,including:

http://www.nsarbearings.com -

1,;8i#5E78 (oil bath lubrication) 2,;#miEE (Dripping lubrication) 3, %J&iEi# (Splashing Lubrication) 4,f&*fi#i& (Lubrication by
oil circulation) 5,155%5EE (Spurting Lubrication) 6,;1%j#/& (Oil mist lubrication) 7,;5#i& (Qil gas lubrication)

RBAER TAREMBIETE, NSARSRRA SMEIRREE A

PAtE FIERE. BRT TEIILAHAES, FRINERTLURIEZE PRVZESRRINE thihbE .
There are so many types of grease available for NSAR bearings,according to the different working environment and operating
conditions of bearings,NSAR lists the below chart to regular grease to help customers to choose, Besides the below types of

grease, NSAR will fill other types of grease according to customers requirement.

HBERHEREFAER. UTRENEFN—RENERME

SRR EE

Rk P Zim ¥
Company Product Base ol %s&a;?eigar}ge Charecteristics
P—— EAMIMBIRE, EKERSS
Multemp SRL Potvol E't TDE" " -50to +150 °C Excellent noises up pressant property and
olyolastar+LJiesiar extended performance life
: ] 23
[ — EATIER, SEAYIHRE
: 3 Excellent low-temperature performance,
Multemp PS Dl_ester+Ff.eﬁned =601t07#140°C has outstanding noise suppressant
mineral oil property
HE] =8 =5 =l
i LIETESK, HERATRESREY
KYODO YUSHI R, BEEE .
BRE . Long service life under high
Multemp SMB gynth’;ﬁc hydrocarbon ~30 10 +200.C temperature.Excellent low-temperature
performance has high -speed
operation,low noise property
SR+ BEREAR EinkETEEELESER
Multemp ETK Synthetic -40 to +200 'C Has more extended life under a high
ether+Polyol ester operating temperature condition
' | w s i o | BWK, HEE
Py EM Mineral grease o Long life and High temperature
T i A& AE
Beacon 325 Aﬁ;ﬁﬂ?‘ -54to +150 °C General r:vurpose
Synthetic grease grease
3 =3 .
T , RO, BNBRREGK
BEHRET Andok C Peteroleum -27t0+120°C Smooth running,long life with minimum
EXXON MOBILE grease migration
Mobil 28 LR . BEEE, HAER
(MIL- G 81322) Synthetic hydrocarbon -54t0 +177°C }[Igll_gﬁ ;emperature,good low temperature
sy aw . REED, AHHIEIREH
Mobil HP Lithi = | -30to +110°C Vibration,moderate speed and good
ithium complex corrosion resistance
.. , BESE, FKMRE,
F#h# CHEVRON SRF2 Mineral grease -30t0+180°C ggit;tger:ggerature range,good water
. | 7 o | BRK, WEE
= Alvania 2 Mineral grease -3510+120°C Long life and high temperature
SHELL R pE i MRER, HER, WER
RLQ#2 Min efral Egl;rease -50 to +150 'C Low noise,high speed and high
temperature.
LA . BIRRAETRENRE, @BYRE
#t#8 DUPONT Krytox240AC FIquina?ed rease -35t0+290°C High temperature stability
9 With good lubrication properties
SRR . BRER, Fak, HER
&% KLUBER ASONIC gynth:;tic hydrocarbon | ~ 5010 #140:C Low noise,long life and low torque

0a



P -~
V. b

http://www.nsarbearings.com

/

N S
E— N O
\e, f

B2 FFrZ Packing And Marks

NSARHIFZRERBHAMBREARRNEE, LURERANBRIRERNNER, TENTHAEREEX. SMMEERTEN
EHARMNRE, RRMRNHE, EENMANES, UEEFEERSX.

NSAR bearings are packed into one plastic tube or wrapped rustproof paper then packed into carton, single package is also
available , that is ,each set bearing is contained into small spastic bag and then packed into little paper box, The user who have
special requirement in packing should point out in contract.

B54% Rust-resisting

%ﬁggﬁﬁﬁﬁ"ﬁ B A6 N A, RENEI6NAMN, MZERSHIRE~RER, BRAEHITER, URSEHEA
%S,

Under the normal storage and preserve protect condition, the bearing’s rustresisting period is half a year over, you should have to
check it over before the expiring date of rustresisting has been past,then-rustresisted again according to the stipulation so as to
keep them not rusty.

if#Ps Clearance

R EFFRIZISOS753 R E A AT E . RHANEENRERE:
In accordance with the standard of ISO 5§753.The radial clearance can be divided into five groups.Radial Clearance Value without
load See Table:

Ry EK A B 1R [E1F FRGr(um)
Deep groove ball bearing radial clearance

ARAE ®2@ (C) | A (0 $£34 (C3) | 4@ (CH | E5E (C5)
Bore diameter Group 2 Standard group Group 3 Group 4 Group 5
D{mm)
it £ gh | Bk | B BK | B | BX | BN | BX | B | BK
over to Min Max Min | Max Min Max Min Max Min Max
2.5 6 0 7 2 13 8 23 - --- -- -
6 .10 0 7 2 | 13 8 23 | 14 | 29 20 37
10 .18 0 9 3 18 11 25 | 18 | 33 25 45
18 24 0 10 5 20 13 28 20 36 28 48
24 30 1 1 5 20 13 28 23 41 30 53
30 .40 1 11 6 20 15 33 | 28 | 46 40 64
40 .50 1 11 6 23 18 3 | 30 | 51 45 73
50 65 1 12 8 28 23 43 38 61 55 90

i C2LBiRR, (UER TOHERE LI LT

Note: C2 group clearance only for bearings over 6 grade accurancy

4h7&$5 M Bearing Testing

NSAR &AM EARRE ZFHHENS—P TFNE, MERNOHT RBGIEM TFRAZRUEXHLR, IR~
B, ARERERMNBHES, RHGTLAMATELES. NSARMARERIIBRGARTHER:

Every manufacturing operation of NSAR bearing is strictly required for material selection and parts production, inspection and
documentation.To guarantee the quality of the products,our company has equipped itself with reliable software and hardware.

Our examination items and devices are as follows:

07

http://www.nsarbearings.com

o et E e .
=3 N
SN #IGIHH Examination ltem Test Device #:¥ Remarks
RSTRAE Sk
Tolerance of dimension Ry &
@ RFLEZmEREENE Bore devciation and variaion De22,09e3 Testing every one
Ads. ADmp.Vdp.Vdmp
IRERETHE
@ Od deviation and variation D011 D051 %ﬁfg‘w S i
1 Ads. ADmp.VDp.VDmp g every
NEZEERATE WE
. ® . Inner ring windth and variation /\Bs.VBs G3035M Example testing
HNETERETRE HWE
@ Outer ring windth and variation ACs.VCs GI035M Example testing
RECEIBRT HE
® Fitting chamfering dimension BRIRER Example testing
® WEsE¥5 B Accuracy of rotation B002 HE
K12 E#EE) Kia inner ring radial runout Example testing
Kea outer ring radial runout Example testing
. Sd runout between inner ring reference plane and bore Example testing
SNEREBENERRENAR LR i
2 @ | SDtiltvariationbetween OD surface baeline and C002 Example testing
reference plane
AESRE IR B002 e
Sia runout between inner ring plane and groove Example testing
5 ESRE RSB RO — e
Sea runout between outer ring plane and groove Example testing
RSNE DB E A SMESME B B e
@ Insi de and outside circle groove round slem inside and Y9025C Excairvibl ot
outside circle extemal diameter round degree P g
4 . : SHRE
Z 1573
ZEiEER (Gr radial clearance) X092,X093 Testing averione
@ AP FRE Heat treat quality HR150DT HE
4 F# & Hardness(GCr15 58HRC) MHI Bxample testing
@ MRS IRER ST ERR HWE
Material and metallographic analysis Microscope Example testing
® 4R 2 Apparent quality FR HRE
hEsE RE M Rotating flexbility Feeling Testing every one
o | WLELEHERAREE SRMEFR | e
5 Shield or seal ring mark and fastness feeling Assembling control
—
BRI B SHRE
® Package condition Visual Testing every one
9 examination 9 Y
iz (RE BERE
Vibration(Noise) Sog10iil According usege




" NEVER STOP ALWAYS RUN htti ://www.nsarbearini s.com

P~

e Tkd A Deep Groove Ball Bearings

NSAR #i& R0 R GeR A EANHA SRAERNHARFS], HBISNERTSKTENRBEN—FHERSH
FHE .

NSAR bearing’s numbering system utilizes a basic bearing number to indicate the appropriate bearing series ,
and a complementary set of prefix and suffix designations which allow a complete description of any bearing

configuration.
Rahif
s Rollinge Element
Outer Ring
. & SLHnET
M _
Inner Ring Snap Rivet
HBERE
Superfinishing %?g%f
Channel

DEEP GROOVE BALL BEARINGS :l,-\l:ﬂ }im ﬁ
: Blank - Ger 15(Chrome Steel)
’ * ’ / s S - 440C (Stainless Steel)
® F - Flanged Outer Ring
F - Ring/OD Modification Codes W - Extended Inner Ring
N A I % _ FW - Flanged Outer/Extended Inner Ring
608 Basic Bearing Number Codes

Blank - Open Bearing

BEARINGS
2RS - Shield/Closure Codes ZZ - Double Shields

RS - Single Seal

2RS - Double Seals

N - Groove Without Ring
NR - Groove With Ring
Blank - Standard

C2 - Tight

C3 - Internal Clearance Codes C3-Loose

C4 - Loose Than C3

C5 - Loose Than C4
Blank - Standard

V4 - Ultralow Noise

V3 - Vibration Level Codes V3 - Low Noise

V2 - Electric Motor Quality
V1 - Above Standard,Less Than V2
Blank - ABEC 1

A3 - ABEC 3

A5 - ABEC 5

A7 -ABEC 7

NR - Snap Ring Codes

A3 - ABEC Tolerance Codes




http://www.nsarbearings.com 2 _ : : http://www.nsarbearings.com

BEFZHE (AEEn) LEZhIRAE SmEihLE SEmEsE ()
Single Seal Rring(no contact) Snap Ring Groove Single Shielded Single Seal Rring(no contact) T ’|
s N2 R E 71 757 (KN) % BR 4% 3% (r/min)
N e s i o T’;ﬁ,—hr _ ShFeR<F (mm) EAXHES iR
/// ’/_j//j/ji}// €L «L/| Z/ {-/f/]» [ i—/f"'l‘(f—/é AR S Boudary Dimensions Basic Load Rating Limit Rotational Speed =8 (Kg)
- ”_L e ,\\l‘-'f-..\ _ /{ ‘%\ \/\I\J\ a2 g \‘\ /,»f_kil_\ BeaNr(I)ngS - s e T 2 o 75 e S Weight
Y AN NN ARNRRN RO : &d #D 3XEB e i Grease il
-R7 N 3z } _RS = :i\\_”T Byl SGE UL O Lubrication Lubrication
624 4 13 5 1.31 0.49 36000 45000 | 0.0032
W EEHE LEE_?&MTC) SR WWEHEE ﬂﬁﬁﬁ@ (fEReel ) ) a D — 625 5 16 5 176 068 32000 | 40000 | 00048
Double Seal Rring{no contacl) Lovating Snap Ring Dauble Shielded Double Seal erlnq-:m contact) L 626 6 19 6 234 0885 28000 36000 00081
(7772 6 A8 e 627 7 22 7 3.35 1.4 26000 34000 0.013
A N Sl ed l:\" & (/ SO IR |
f j‘ 3 ;k\\\;/_,.\t:\l\: 628 8 24 8 4 1.59 24000 32000 = 0.017
AN AN SN £ b T O O O I W T
7 N 7%’/—/ﬁ | . . | =
—2RZ -~z =ehg Y ‘:K/zﬂéz_z_-z 6201 12 32 | 10 6.1 2,75 18000 24000 | 0.037
7 6202 15 35 11 7.75 3.6 17000 _ 22000 _ 0.045
SRRER T (mm) :E:Zii@i_iﬁﬂ'ﬁ B BR % 3 (r/min)Limit 6203 17 40 12 9.6 4.6 16000 20000 0.066
Boudar K
Y (Rmeasie Lagd Rotational Speed ‘ ‘ '
Bearings A 38 55 5 Weight 6205 25 52 | 15 14 7.85 12000 16000 = 0.128
No. MiEd S ED map DR A% D fer Grease Oil _ 6206 30 62 16 19.5 11.3 10000 13000 = 0.199
Dynamic Cr = Static Cor | | yprication Lubrication 6207 35 72 17 25.7 15.3 8800 10000 0.287
| 6208 40 80 18 29.1 17.8 7700 9200 0.367
603 3 9 3 0.49 0.22 40000 48000 0.0009
=04 > 5 7 57 i e i 35000 T, i T 6209 - 45 85 | 19 32.5 20.4 6800 _ 8200 | 0.416
| : | | - 6210 50 90 20 35 23.2 6100 7300 | 0.462
605 5 14 S 1.02 & 049 | 32000 40000 | 0.0035 6211 55 100 21 43.5 29.2 5500 6600 0.602
606 6 17 6 1.13 | 0.56 | 30000 38000 | 0.006 6212 60 110 22 52.5 36 5000 6000 _ 0.789
607 74 19 6 2.01 1.05 28000 36000 0.008 6213 65 120 23 58.5 40.5 4800 5800 . 0.99
608 8 22 7 2.53 1.36 | 26000 34000 | 0.015 6214 70 125 | 24 63.7 45 4600 5600 1.1
609 9 24 7 2.57 1.36 24000 32000 0.016 6215 75 130 25 68.9 49 4400 5400 1.2
= o z 5 6216 80 140 26 72.5 53 4200 5300 _ 1.4
SLOALE B £ s Lbe i 20000 25000 & 4,01 6217 85 150 28 83.2 63.8 4000 5000 1.75
6001 12 28 8 5.11 2.39 19000 26000 0.021 6218 a0 160 30 95.8 71.5 3800 4800 | 292
6002 15 32 9 5.59 _ 2.84 _ 18000 24000 _ 0.03 6219 95 170 32 110 82.8 3600 4500 ' 2.62
6003 17 35 10 6.00 3.25 17000 22000 0.04 6220 100 180 34 122 92.8 3400 4300 3.2
6004 20 42 12 9.38 | 5.03 | 15000 19000 0.068
6005 25 a7 12 10.06 | 5.85 | 13000 17000 _ 0.079
6006 30 55 13 13.23 8.30 10000 14000 0.113 _ SRR (mm) EARHE 516 (KN) ~ MRBREEIE (r/min)
6007 35 62 14 16.21 10.42 92000 12000 0.149 ﬁBﬂieJicriﬁr’%qs Boudary Dimensions Basic Load Rating Limit Rotathnal Speed % B (Kg)
6008 40 68 15 17.03 11.70 8500 11000 0.185 No < BT 448 1 i=pE ) HEE Weight
! ! ! . /?' A -~ '~ N
6009 45 75 | 16 21.09  14.77 | 8000 10000  0.231 RfEd | MED | WEB | 6 o mic Cr| Static Car gactoade | e2l e
6010 50 80 16 22.02 16.25 7000 9000 0.25 16002 15 32 8 5.6 o8 19000 24000 0.023
6011 55 90 8 30.26 | 21.93 | o e _ 0.362 16003 17 35 8 6 3.3 18000 22000 0.028
6012 60 95 18 31.66 24.22 —— — 0.385 16004 20 | 42 8 7.9 4.45 16000 _ 19000 _ 0.052
6013 65 100 18 32.06 . 24.89 . I e . 0.408 16005 _ 25 | 47 | 8 8.8 | 5.6 13000 _ 17000 | 0.059
Sl i e e s e AN R W RN R R
6015 75 115 20 40.20 33.20 sga soec 0.603 - - : - - -

: : : : 16008 = 40 = 68 9 125 = 96 9000 | 11000 | 0.125
gO1® S I s e 2880 - e 16009 45 75 10 156 122 8000 | 10000  0.155
6017 85 130 22 50.80 | 42.80 | - .~ 0.848 16010 50 | 80 10 162 132 8000 | 9500 | 0.166
6018 90 140 24 58.00 | 49.80 | —— ‘ —_—— . 1.103 16011 55 90 11 19.4 16.2 7000 8000 0.207
6019 a5 145 24 57.80 _ 50.00 _ s ez . 0.156 16012 60 95 11 19.9 17.5 6300 7500 0.224
— 100 150 24 6450 | 5620 | - 1174 16013 65 100 11 20.5 18.6 6000 7000 0.241

mn



http://www.nsarbearings.com

AR S
Bearings
No.

635
636
637
638
639
6300
6301
6302
6303
6304
6305
6306
6307
6308
6309
6310
6311
6312
6313
6314
6315
6316
6317
6318
6319
6320

AR S
Bearings
No.

685
686
687
688
689
6800
6800W7
6801
6802
6803
6804
6805
6806
6807
6808
6809
6810

SR~ (mm)

Boudary Dimensions

SEES

100

d

4hED  HEEB
19 6
22 7
26 9
28 9
30 10
35 11
37 12
42 13
47 14
52 15
62 17
72 19
80 21
90 23
100 25
110 27
120 29
130 31
140 33
150 35
160 37
170 39
180 41
190 43
200 45
215 47

SR~ (mm)

Boudary Dimensions

A=

@~ O W

10
10
12
16
17
20
25
30
35
40
45
50

d

5MED FEEB

11
13
14
16
17
19
19
21
24
26
32
37
42
47
52
58
65

w

ol
(5 3E3)

NNNSNSNNNO oo N oA s

B AR E 7175 (KN)
Basic Load Rating
Bh T a7 BRoaqa
Dynamic Cr Static Cor
2.34 0.89
3.3 1.35
4.55 1.95
4.55 1.95
6 2.65
7.65 3.47
9.72 5.09
11.44 5.43
13.58 6.58
15.94 7.88
22.38 11.49
27 15.19
33.36 19.21
4.75 24.01
52.86 31.83
61.86 37.49
74.1 45
85.2 52
97.5 60
111 68
113 76.85
123 86.5
132 96.5
145 108
157 122
173 140
AR F R 7 (KN)
Basic Load Rating
= 6 Fo B f
Dynamic Cr Static Cor
0.715 0.282
1.08 0.44
1.17 0.51
1.26 0.585
1.72 0.82
1.83 0.925
1.83 0.925
1.92 1.04
2.08 1.26
2.81 1572
4 247
4.3 295
4.7 3.65
4.9 4.05
5.1 4.4
6.4 5.65
6.6 6.1

% PR &% 3R (r/min)
Limit Rotational Speed

B5i@ B
Grease
Lubrication
28000
26000
24000
22000
20000
18000
17000
15000
13000
10000
9000
8500
8000
7000
6300
6000
6300
5600
5300
5000
4000
3800
3600
3400
3200
2800

R
Qil
Lubrication
36000
34000
32000
30000
26000
24000
22000
19000
17000
14000
12000
11000
10000
9000
8000
7500
8000
7000
6700
6300
4800
4500
4300
4000
3800
3600

% BR %% 33 (r/min)
Limit Rotational Speed

BeiHE
Grease
Lubrication
35000
33000
31000
29000
28000
26000
26000
22000
20000
19000
17000
15000
13000
11000
9000
7000
5000

SH T
Qil
Lubrication
45000
42000
40000
38000
36000
34000
34000
30000
28000
26000
22000
19000
17000
15000
13000
11000
9000

£ 8(Kg)
Weight

0.008
0.013
0.024
0.029
0.035
0.0532
0.0574
0.0804
0.1096
0.1417
0.2193
0.3498
0.4542
0.6394
0.8368
1.0822
1.35
1.7
2.08
2.55
3.05
3.62
4.27
4.91
5.7
il

=(Kg)
Weight

0.0011
0.0019
0.0021
0.0031
0.0032
0.005
0.006
0.006
0.007
0.008
0.019
0.022
0.026
0.029
0.033
0.04
0.052

AR S
Bearings
No.

693
W693
694
695
696
697
698
699
6900
6901
6902
6903
6904
6905
6906
6907
6908
6909
6910

A S
Bearings
No.

60/22
62/22
63/22
60/28
62/28
63/28
60/32
62/32
63/32

AR S
Bearings
No.

288

R4A

223

R14

Shz R~F (mm)

Boudary Dimensions

A 12d

— | — —
Nmmowmwmmhmm

a b bdWwWWwMNN
o oo oo u o

4hED  FEEB
8 3
8 4
11 4
13 4
15 5
17 ]
19 6
20 6
22 6
24 6
28 7
30 7
37 9
42 9
47 9
55 10
62 12
68 12
72 12

Sz R~ (mm)

Boudary Dimensions

A {Ed

22
22
22
28
28
28
32
32
32

4hED  FEEB

44
50
56
50
58
68
58
65
75

12
14
16
12
16
18
13
17
20

ShZ R~ (mm)
Boudary Dimensions

R f=d

3.175 |
4.762
6.35
6.35
9.525
12

| 15.875

19.05

| 22.225 |

25.4

| 28.575

31.75 |

Sh1ED

9.525

12.7

 15.875

19.05

| 22.225

28.575
34.925
41.275

47.625

50.8

53.975

57.15

TEB
3.969

3.969
4.978

5.556

5556

6.35
7.144
7.938

9.525

9.525

9.525

http://www.nsarbearings.com
y |

3 A B 519 (KN)
Basic Load Rating
B T far At far
Dynamic Cr Static Cor
0.56 0.18
0.56 0.18
0.715 0.276
1.08 0.43
1.35 0.53
1.61 0.715
1.99 0.865
2.48 1.09
2.7 1.27
2.89 1.46
4.1 2.06
4.65 2.58
6.4 3.7
7.05 4.55
7.25 5
11.2 7.45
14.6 10.2
15.1 11.2
15.6 12.2
£ A& ZE T2 Tar (KN)
Basic Load Rating
=f) T4 a7 Fh At
Dynamic Cr Static Cor
9.3 5
12.8 6.3
156.2 7.5
14 7.8
19 11
26.7 15
13.2 8.3
19 11
28.5 15
AR S
%Vfg(;:?) Bearings
No.
0.0013 R22
0.0022 R24
0.0044 RLS4
0.0044 RLS5
0.011 RLS6
0.014 RLS7
0.015 RLS8
0.028 RLS9
0.043 RLS10
0.071 RLS11
0.085 RLS12
0.085 RLS13

9.525

B PR %% 3% (r/min)
Limit Rotational Speed
A5 i@ & R
Grease Qil
. Lubrication = Lubrication
54000 63000
54000 63000
45000 52000
34000 43000
32000 40000
30000 38000
28000 36000
27000 34000
25000 32000
20000 28000
19000 26000
18000 24000
17000 22000
14000 18000
12000 16000
10000 14000
8000 12000
6000 10000
4000 8000

R BR¥E 3 (r/min)
Limit Rotational Speed

HEE

REiEE
Grease
Lubrication

16000
14000
13000
12000
9500
9000
10000
9000
9000

il

_ Lubrication

19000
18000
16000
15000
13000
11000
13000
12500
11000

ShFER~F (mm)

Boudary Dimensions

A fEd
34.925
38.1
12.7
15.875
19.05
22.225
25.4
28.575
31.75
34.925
38.1
41.275

#MED
63.5
63.5

33.338

39.688

47.63
50.8

57.15
63.5
69.85
76.2
82.55
88.9

EB

11.112
1142

9.525

11112

14.29
14.288
15.875

15.875

17.463

17.463
19.05 |

19.05

EE(Kg)
Weight

0.0006
0.0007
0.0018
0.0024
0.0038
0.0052
0.0073
0.0082
0.009
0.011
0.016
0.018
0.036
0.042
0.048
0.074
0.11
0.128
0.132

E & (Kg)
Weight

0.074
0.117
0.175
0.098
0.171
0.284
0.129
0.226
0.382

E=(Kg)
Weight

0.094
0.0952
0.038
0.067
0.12
0.142
0.19
0.185
0.274
0.35
0.45
0.51

Y



TAPERED ROLLER BEARINGS :fg
J

NSAR® |

BEARINGS

htt ://www.nsarbearin .

NEVER STOP ALWAYS RUN

(53] 6078 1
Tapered Roller Bearings

EER TR T o BAME, HENA., IMEHEFHERE. ZEMRIEMRRTFHIIES HEY, WM EERFHAEF
FEIRLEME .

Tapered roller bearing belongs to the separable bearing, and have taper race on the inner and outer rings. This kind bearings divide
into single row, double row and four row roller bearings of different structure,according to the row number of assembled roller.

EH#RTHALE

Tapered roller bearing configuration

ERABENA

Collet type locking mechanism

1TERIRL

Planet gear speed reducer

B8 E X Suffix defined
A: ABEMEE A: Internal structure changed
B: #ARIEMMA B:Enlarged contact angle

X: SMERTRAE AR E X: Overall Dimension adopt international standard
CD: WSME, #mFLekmiE  CD:Double outer rings,with oil hole or il groove
TD: HHFLAINAE TD: Double inner rings with taper hole

/AZE Tolerance

AHIEERTFHEREEEERANE, HIRHP6X, P6. P5. P4, P2RAESESR, 2¥W5CGB307.1HEHE.

Metric tapered roller bearings have common tolerance,also can supply P6X. P6. P5. P4, P2 grade clerance, all of
them accord with GB307.1.

NSARZFIEHR FHAABTBRALE, MIEFERAEMCL2, CL3. CLO. CLOORAZE M.

NSAR brand Inch tapered roller bearings have common tolerance,and also can supply CL2. CL3. CLO. CLOO grade
clerance according to the requirement.

12[E35P% Radial Internal Clerance
NSARE R ERFHANEREEAGRK, HEFS—MUER A EEMAHATITENE A EHE.

NSAR brand single tapered roller bearings just have clerance after assembled, and can be confirmed after the adjust
of opposite direction bearings.

#5835 Cage
EIHERF oA — R AN E, ERARFR, BRTBAR, IFRAZFESSSESTERRFE.

Tapered roller bearings normally use the steel punching, basketful shape cage. While for large size,also adopt the entity
pillar cage.

1. 3K SMED<650mmET, REAMAERIFR, RIFRFEEXSHTHRE.
When the outer diameter of bearings D<650mm, use the steel punching cage, the cage suffix code don't mark.

2. HHEIMED>650mmEY, RAWMHILASHERFER, REFEREERSTFE.

When the outer diameter of bearings D>650mm, use the steel entity pillar cage, the cage suffix code don’'t mark.




http://www.nsarbearings.com | = — s - ' = — | http://www.nsarbearings.com :

HENE SR Boudary Dimensions EXHT (KN) . iEmEe MRS Boudary Dimensions EREE (KN) =
: | : 5 vg _ T
Be:"HGS wad #ap gy SEAR ARRR URE  BAE  KGMeoh Be:l”"gs had 4D pgs FEORNEEE BOE  BAF  (KGWeght
= = INT C  Dynamic Cr Static Cor & & | B C  Dynamic Cr Static Cor
32205 25 52 18 19.25 16 42 47 0188 | 32305 |25 62 24 2525 20 = 615 = 645 | 0.386
32206 30 62 20 2125 17 518 637 0292 |32306 30 72 27 2875 23 | 81.6 964 | 0.588
32207 35 72 23 2425 19 706 | 895 0453 | 32307 35 80 31 3275 25 99 1183 | 0.776
32208 40 80 23 2475 19 | 779 972 0554 | 32308 40 90 33 3525 27 115 147 | 1.06
32200 45 85 23 2475 19 807 104 0587 | 32309 45 100 36 3825 30 145 180 | 143
RS ?b&’ﬁ_ﬁ‘Boud_ary Dimensions Etﬁ_ﬁ (KN) F§ hALE ?hﬁﬁf]‘ Boudary Dimensions EERER (KN - 32210 50 90 23 2475 19 88 107.6 0643 | 32310 50 110 40 4225 33 177 236 | 1.89
Be:‘lngs s nap g FESE AMEE BRE | mam KoMes BE:TgS i 4D pus SEAEAEEE WRE  BAE  (KOWeght 32211 55 100 25 2675 21 108 1423  0.863 | 32311 55 120 43 455 35 203 271 | 238
| T C  |Dynamic Cr | Static Cor | | [ | T | C |DynamicCr| Static Cor 32212 60 110 28 2975 24 133 180 119 | 32312 60 130 46 485 37 = 22 303 2.86
30203 17 40 12 1325 11 205 203 | 0081 30214 70 125 24 2625 21 123 174 132 55595 |66 | §50 | 9 |GaE | 57 | “iEd 555 | i858 |meats | BE (420148 | 5% | 2a | o60 | @aa: | &g
30204 20 47 14 1525 12 282 | 287 | 0127 30215 75 130 25 275 22 1384 185 142 PP ATl P e e e ey g ey ey e () o e R e g e
30205 25 52 15 1625 13 315 34 0156 30216 80 140 26 2825 22 160 213 1.72 Soo{s 75 130 |3 %305 |27 | A7y | 342 | f7x |aome |76 460 sz | 5a | 48 | 2 | agy | S
30206 30 62 16 1725 14 | 433 505 | 0236 30217 85 150 28 305 24 178 237 2.47 e e EE T T T T e e Tl e e T T T
30207 35 72 17 1825 15 542 635 | 0344 30218 90 160 30 325 26 200 270 2.65 - - - -
30208 40 8 18 1975 16 63 74 | 0434 30219 9 170 32 345 | 27 227 309 32 BITT | 85 1160 | 86: | S8 L S0 | BT ) 32 28 | 3Z8W |86 [U80I B0 | Ea6 [ 48 ) ML BOE | 742
30209 45 8 19 2075 16 679 836 0502 30220 100 180 34 37 | 29 254 3/ 383 GaA18 | S0 180 |40 N des | oy | 210, | 898 | 40 916 | 90 [1001) bg || 675 ) 59 | 4r8 || B85 || 661
30210 50 90 20 2175 17 733 921 | 0566 30221 105 190 36 39 | 30 285 399 4.49 32219 | 95 170 | 43 | 455 | 37 | 303 448 434 | 32319 95 200 67 715 55 516 737 101
30211 55 100 21 22.75 18 90.8 113.7 0.732 ‘ 30222 110 200 38 41 32 315 444 5.33 32220 100 180 46 49 39 341 512 521 32320 | 100 215 73 77.581.5 63 627 872 12.2
30212 60 110 22 2375 19 | 1033 130 | 090 | 30224 120 215 40 435 | 34 337 483 6.36
30213 65 120 23 2475 20 1206 = 153 | 148 | 30226 130 230 40 4375 | 34 266 521 7.24
. ) o . . B . . .
game  SMELRTBoudary Dimensions _ BAHE (KN) 58 WERS 4h & R <fBoudary Dimensions _ EEHT (KN) it ?ei%}js' ﬂ\gﬁj BARAR{ DRGSR . R A Fft,fr%zs . AR Bancary Q|men5|ons EE '
PG mep gge SEREARRE DN | Ba (OWeon PSS | SEEEAREE #0F | BRE KoWeg No. med  sep  gge (KOMWEIN Thy mEd | sED | mms  (KOWeidht
' T € | Rytemic Cr) St Cor | W) G | ymeic G Statie Cor 33005 25 47 17 0.131 33108 40 75 26 0.508
30303 17 | 47 14 1525 12 | 289 | 263 0133 | 30311 55 120 20 315 25 | 153 188 1.65 mE T T 55 oo | aios T a0 > ia
30304 20 | 52 | 16 | 16.25| 13 | 355 34 079 | 30312 60 130 31 385 22 17 — it 3307 @ 35 | 62 21 | 0263 33110 50 85 26 0.594
30305 25 | 62 | 17 | 1825 15 | 485 | 475 = 0269 | 30313 65 140 33 36 28 196 242 256 13008 | 40 | 68 22 | o328 | 33111 = o5 5 T
ot a0 [ o[ 2t [ers] 8 | oo | sme | ome |sootsl7s [0l a7 | 40 | st | a | ots | 5% soos 45 | 75 24 | oals | sz | s w0 | 3 oo
i R T R T R R e T 33010 50 | 80 24 0451 | 33113 6 110 | 34 1.33
30309 45 | 100 25 2725 22 | 1089 1208 0973 30317 85 180 41 445 34 | 305 = 388 497 LN S TR s ccEmm NS L
30310 50 110 27 | 2025 23 | 1304 | 157 132 | 30318 90 | 190 43 465 36 | 342 | 441 578 ceh o B AR B L S | - B 33
e : : - P - - 33013 65 | 100 27 0762 33117 | 85 140 41 243
33014 70 110 31 109 | 33120 100 1865 52 4.29
HREE 5hELRF Boudary Dimensions ERHAE (KN) 8 |BARIS SMER Boudary Dimensions HERER (KN) 58 sl | L - 118 81 L__1.16 | 83122 | 110 | 180 | 56 5.33
B LEBE MERE BRT | BHAE  (KC)Weight Heang kESE MEEE BRE @afr | (KG)Weight 3018 50 ' 125 =0 ' 152 | L 200 == L
No.  HfEd MED KB <o e No. P4 SMED REEB ~ v | o St 33017 8 13 36 | 172 | 332005 25 52 | 22 0.225
32005 25 47 15 15 115 278 335 0118 | 3014 70 110 25 25 19 105 160  0.884 oA L S 8¢ @83 | 5%edy i b2 2 0.359
3006 30 55 17 17 13 375 46 0177 | 3015 75 115 25 25 19 106 167 093 | 33019 95 145 | 39 231 | 33207 35 2 28 0.551
32007 35 62 | 18 14 14 415 525 0231 | 32016 80 125 29 29 = 22 139 216 | 1.32 3320 | 100 150 % 24 | 33208 | 40 | 80 | 32 0.758
32008 40 68 19 19 145 50 65 0282 | 32017 85 130 | 29 29 22 142 224 1.38 33021 105 160 43 | 3.08 33209 | 45 85 | 32 0.803
32009 45 75 | 20 20 145 575 765 0354 | 32018 90 140 32 32 24 168 270 18 33022 | 10 | 170 47 | 381 | 33211 | 55 100 | 35 1.18
32010 50 8 20 20 155 625 88 0389 | 32019 95 145 32 32 24 71 280 188 33024 | 120 180 48 | 416 | 33213 65 120 41 2.02
32011 55 90 23 23 175 805 118 0569 | 32020 100 150 32 32 24 170 281 1.95 33026 130 200 55 6.19 33214 | 70 125 | 41 2.16
32012 60 95 | 23 23 175 82 123 | 0621 | 32021 105 160 | 35 35 26 201 335 | 245 | 33028 140 210 56 6.61 33215 75 130 41 2.26
32013 65 100 23 23 175 83 128 0664 | 3202 110 170 38 38 20 23 30 3.2 33030 | 150 | 320 65 | 239 | 33216 80 140 46 2.99



e R E S
Bearings
No.

344A/332
358/354
359A/354A
368/362
375/374
387/382S
387AS/382A
390A/394A
395/394A
399/394A
418/414
455/453
459A/493
462/453X
462/454
475/472
482/472
469/453X
480/472

NA484/472D |

5608/552A
527/522
528X/520X
535/532A
555/552A
567/563
575/572
577/572
580/572
581/572
582/872
594/592A
594/593X
597/593X
598/593X
599X/593X
615/612
621/612
622X/614X
636/632
645/632
655/653
663/653
677/672
749/742
755/752
835/832
1280/20
1755/29
1988/22
2474/20
2559/23
2578/23
2687/31
2788/20

http://www.nsarbearings.com

#h 8 R~ Boudary Dimensions

A i=d
40

45
40.038
50.8
50.8
57.12
57.15
57.15
63.5
68.262
38.1
50.8
76.2
57.15
57.15
55

70
57.15
68.262

68.263
44.45
47.625
44.45
50.8
73.025
76.2
74.612
82.55
80.962
82.6
95.25
95.25
93.662
92.075
85
44.45
53.975
55
53.975
71.438
69.85
82.55
85.725
85.027
76.2
69.85
22.225
22.22
28.575
28.575
30.162
33.338
25.4
38.10

b =D
80

80

85

20
93.264
96.838
96.838
110

110

110
88.101
107.59
136.525
104.775
110

120

120
104.775
120

120
123.825
101.6
101.6
111.125
123.825
127
139.99
139.992
139.99
146.24
139.9
152.4
150

150

150

150
120.65
120.65
115
136.525
136.525
146.05
146.05
168.275
150.089
161.925
168.275
57.15
56.89
57.15
68/262
73.711
69.85
66.421
76.20

EEB
21

| 20.638
| 20.639

20

| 22.225
| 25.4

21

| 21.999

21.999
22

| 26.908
| 27.783

30.162

| 30.162

27.795

| 29.007

29.794

| 30.162

29.794

| 29.794

38.1

| 34.925
34.925

36.957

| 36.678
| 36.673

36.512

| 36.098
| 36.512

36.512

| 36.512

39.688

| 35.992

35.992

| 39.688

35.992

| 41.275

41.275
40.021

| 41.275

41.275

| 41.275

47.276

| 41.275

44.45

| 48.26

56.363

| 22,225
| 19.36

19.845

| 23.812

23.812

| 23.812

25.433

| 23.812

HE
(KG)Weight

0.472
0.523
0.51
0.507
0.59
0.654
0.587
0.84
0.83
0.75
0.845
1.23
.82
.068
.23
.64
.304
.055

.314
.822
.37

| o ]| [ | o | | |

2.3
1.81
2.39
2.42
217
2.34
2.15
2.49
2.21
2.35
2.41
2.7
2.42
2.18
1.9
3.1
5.64
3.24
2.75
4.18
3.17
4.68
6.15
0.286
0.258
0.214
0.41
0.483
0.435
0.44
0.495

kR B S
Bearings
No.

3187/20
3379/20
3386/20
3490/20
3578/25
3574/25
3659/20
3780/20
3182/20
3876/20
3939/68
3975/62

JRM3939/68XD

A4049/4138
4388/35
JW4549/10
5565/35
JW6E549/10
6575/35
JP7049/10
02474/20
02475/20
0687/71
02878/20
07093/196
09067/195
11590/20

LM11749/10

LM11949/10
12580/20

M12649/10
LM12749/10

LM12749/11

14117/274A

14124/274
14125A/274
14131/274

14137A/274

14138A/274

14137A/276
14125A/276

15101/245

151035/243

15113/245
15123/245
15126/245
15579/15520
16137/282
16150/282
17580/20
17887/31
18590/20
21075/212
L21549/11
22168/325

4h# R ~+ Boudary Dimensions

P 1=d
30.162
34.925
39.688
38.1
44 .45
42.86
23.812
50.8
44.45
38.1
39
50.8
39
12.68
41.275
45
50.8
65
76.2
70
28.575
31.75
31.75
34.925
23.812
19.05
15.87
17.462
19.05
20.638
21.43
22
22
30
31.75
31.75
33.338
34.925
34.925
34.925
31.75
25.4
26.162
28.575
31.75
31.75
25.987
34.93
38.1
15.875
45.23
41
19.05
15.875
42.682

INfED
72.626
80.167
80.167
79.375
83.312
87.3
61.912
93.264
93.264
85.725
68
112.712
68
34.988
90.488
95
122.238
130

161.925

110
68.263
68.263
54
73.025
50.005
47.225
42.86
39.878
45.237
49.225
50.005
45.237
46
68.956
69.012
69.02
69.012
69.012
69.012
69.012
69.012
62
61.913
62

62

62
57.15
71.99
72
42.862
79.985
73
59.975
34.988
82.55

PEEB
29.997
29.37
29.37
29.37
30.162
30.16
30.416
30.162
30.162
30.162
37
33.338
18.5
10.988
38.658
26.5
43.08
33.5
53.975
20
22.225
22.225
15
22.225
13.495
18.34
14.29
13.843
15.494
19.84
17.52
15.494
15.494
19.845
19.845
19.845
19.845
19.845
19.845
19.84
19.845
19.05
19.05
19.05
18.161
19.5
17.46
20.64
19
16.67
19.843
16.7
22.225
10.998
19.837

=8
(KG)Weight

0.59

0.714
0.651
0.646
0.789
0.806
0.43

0.981
0.981
0.84

0.536
1.59

0.541
0.06

1.217
0.91

2.76

2.14

5.43

0.69

0.397
0.365
0.133
0.491
0.119
0.174
0.099
0.087
0.124
0.165
0.172
0.116
0.121
0.34

0.357
0.357
0.345
0.328
0.328
0.324
0.347
0.298
0.287
0.276
0.243
0.252
0.211
0.374
0.33

0.1

0.402
0.275
0.246
0.05

0.44

AR S
Bearings
No.

23092/256
24780/20
25570/20
25572/20
25577/20
25580/20
25580/21
25590/20
25590/23
25877/20
26881/20
26882/22
26883/23
26884/24
26878/22
27880/20
28580/21
28584/21
28680/22
28985/20
25987/20
29590/22A
29685/20
LM29748/10
LM29749/10
33275/462
36970/20
39590/20
39581/20
43112/312
L144643/10
L44649/10
45285/21
L45449/10
46143/368
47686/20
48268/20
48290/20
48393A/20
LM48548/10
LM48548/11A
L507949/10
56245/50
56245/508
65390/20
LM67045/10
LM67048/10
LM67049A/10
JL68145/11
L68149/10

48 R ~t Boudary Dimensions

A1Ed
23.812 |
41.275 |
36.51
31.8
42.88
44.45
44.45
45.618
45.618
34.925 |
39.688 |
41.275
35 '
42.875
38.1
38.1
50.8
52.388
56.562
60.325
63.7
66.675
73.025
38.1
38.1
69.85
63.5 |
66.675
57.15
28.575
254 |
26.988
50.8 |
29
36.512
82.55 |
123.825
127
136.525
34.925 |
34.925
57.15 |
107.95 |
107.95
49.212 |
31.75 |
31.75
31.75
35
35

5hED
65.088
76.2
82.93
82.93
82.93
82.931
83.058
82.931
82.931
73.025
80.167
79.375
67.2
80
79.375
80.035
92.075
92.075
97.63
101.6
107.95
107.95
112.712
65.088
65.088

117.475 |

112.713
112.713
112.713
79.375
50.292
50.292
104.775
50.292
93.662
133.35
182.562
182.562
190.5
65.088
65.088
87.312
171.348

171.348 |

114.3
59.131
59.131
58.131
60
59.131

= EB
21.463
22.225
23.8
23.81
23.81
23.813
23.813
23.813
23.813
23.812
25.4
254
23.812
23.852
23.812
23.698
24.608
24.608
24.608
254
25.4
25.4
25.4
18.034
18.034
30.173
30.163
30.163
30.163
24.074
14.224
14.224
30.162
14.224
31.75
33.338
39.688
39.688
39.688
18.034
21.082
18.258
36.512
36.512
44.45
15.875
15.875
15.875
15.875
15.875

=&

(KG)Weight

0.37
0.436
0.665
0.665
0.562
0.556
0.55
0.539
0.582
0.469
0.579
0.53
0.566
0.521
0.566
0.56
0.7
0.674
0.754
0.801
0.901
0.855
0.865
0.232
0.232
1.248
1.236
1.161
1.358
0.6
0.134
0.124
0.122
0.1
1.178
1.696
3.239
3.053
3.314
0.254
0.27
0.38
2.74
2.74
2.18
0.187
0.179
0.182
0.188
0.173

http://www.nsarbearings.com
y |

R RS
Bearings
No.

JLE8149/10
JL69349/10
71455/750
LM78349/10
HM81649/10
M84249/10
M86649/10
M88048/10
HM88542/10
HM86649/10
89440/10
HM89446/10
LM102949/10

| LM104947A/10

JLM109948/10

| LM104949/11A

LM104949/12
JM205149/10
M201047/11
JH211749/10
JM207049/10

| HM212047A/11

HM212049/10
HM212049/11
HM218248/10
HM220149/10
HH221449/10
LM300849/11
H414245d1/10
LM501349/10
LM501349/14
LM506818/10
HM518445/10
LM603049/11
LM603049/14
LM803049/12
JM71249/10
H715345/11
JM716649/10
JM718149/10
HM801349/10
M802048/11
HM803145/10
HM803149/10
HJM84044/10
JL819349/10
JL822049/10
Mz40648DW. 611.611D

| LM451349DW.310.310D

L68149/11

48 R ~f Boudary Dimensions

A fzd
38
38

115.087 |

35

16
25.4
30.162
33.338
31.75
34.925
31.75
152.4
50

50
50.8
50.8
50
39.688
65

55
63.5
66.675
66.675
89.975
100
101.6
41
68.2
41.275
41.275
55
88.9
45.242
45.242
45.242
75
71.438
85

90
40.483
41.275
41.275
44.45
200

90

110
46.415
61.923
44.26
35

ShED
| 63
63
190
62
47
59.53
64.292
68.626
73.025
72.238
76.2
76.2
73.431
82
82
82.55
82.913
90
73.025
120
95
122.38

122.238 |

122.238

146.975 |

157
190.5
68
136.5
73.431
73.431
90
152.4
77.788
77.788
77.788
120

136.525 |

130
145
82.55
82.55
88.9
88.9
300
135
165

198.438 |

266.7
60

EEB
17
17
47.625
16.65
21
23.368
21.433
22.225
29.37
25.4
26.195
29.37
19.558
17
21.5
23.622
21.59
23
25.654
39
29
38.1
38.1
38.1
40
42
57.15
18.1
41.27
19.588
21.43
23
39.688
19.842
19.842
21.43
31
46.038
30
35
28.595
26.543
30.162
30.162
65
20
35
284.163
355.6
15.875

C%

(KG)Weight

0.198
0.19
4.952
0.208
0.2
0.32
0.328
0.375
0.168
0.485
0.112
0.653
0.321
0.432
0.419
0.4421
0.423
0.733
0.435
1.874
0.8
1.922
1.85
1.85
2.52
2.79
6.89
0.234
2.672
0.334
0.354
0.549
2.9
0.354
0.4
0.373
1.267
3.06
1.35
2.06
0.73
0.62
0.892
0.835
15.16
0.806
2.497
225.43
228.6
0.181

2l



SP.I-IER.I(IJ;\L ROLLER BEARINGS \ \
i I

NSAR’

BEARINGS

http://www.nsarbearings.com

NEVER STOP ALWAYS RUN NSAK

AIL R T4l Spherical Roller Bearings

WLRTFHAREA _FRENABEMBEARENINE B, EEEBHRTFOME. XAEMWAS L, WIFCRTFHE, BE,
CA®!, CCE, ME, fEHE. FENMAENT LAKBENXGHIE, AHMAARSHTRE~8H.

Spherical roller bearing is in the two race between inner ring and groove for spherical outer ring, assembly cylindrical roller
bearing.This kind of bearings have single and double row. They have E, CA, CC , M and seal model.Mainly usedf in the field of mining
and large transport equipment, oil and gas exploration and production field.

E 7%t Basic Design

WLRFMARERSRENABIREAREMIINEZE, REFRERTOME. IERENFERLSHFEPO—B, FULARS
BB OEkAEEREOThEE. 5. JMTHIEREE, FTLLEENE%, AEmihEsiE.

Spherical roller bearings is in a race between inner ring and groove for spherical outer ring, assembled with cylindrical roller
bearing.Outer ring raceway curvature center and bearing center consistent, so with automatic self-aligning ball bearing the same
tone heart function.If there was a deflection axis, a hood, can automatically adjust, don’t increase the bearing burden.

WLRFHARR =R e e MR BHEE Ranil6E A
Spherical roller bearing product range includes: open type bearing ,seal bearing ,ibration machinery bearings
A S: Bearings Code
2 — AR S FHEFHE

p Type Code Spehrical roller bearings
23 ——RTRIMES: 2357
23--—-- Dimension Series Code:Series 23

10 ———-3AAFER TR S 06*5=30mm; 07*5=35mm
10--—-—] Bearings Inner Diameter Code:06*5=30mm; 07*5=35mm
CA-———EpEHNR S CARIAET YD HIF RIS

CA-—— Internal structure code CA type is Brass cage with small flange of inner ring
K e HAMTLEN EHEFL EE112)
K---—-—-Bearing innergroove type Taper bore(Taper 1:12)

MW33-— R4 SRSME AR mE =N T

/W33----Lubrication structure .There is lubrication groove and three lubrication oil bore on
outer ring

IP6 ——YEEEH4R: P6

/P6—-—Precision grade P6

RWLRTHAMEKRSAZTHEEANEERSRRRE

The list of Spherical roller bearings bearing code system in the rear of the most commonly used code

Q SiF{R# 2% Bronze Cage RSB L AR mE R = amEmTL.
K EI4EFLEA, 48/ % 1:12  Taper bore bearing, Taper 1:12 || W33 On the bearing outer ring has lubrication groove and
K30 ESEFLER, $HEH 1:30 three lubrication hole

Taper bore bearing, Taper 1:30 R sME LG EE R NIRRT
N SMEIHLLRNHE Snap groove on outer ring W33X | On the bearing outer ring has lubrication groove and six
- f;ﬂﬂﬁ%ﬁﬁf‘% IIISO 0E 0 LR i 185 siard lubrication hole

imension and rolling precision mee stan

tolerance Level 0 JRS A MR )

RIFEESEDSS 1SO 2 6 Gk Contact-type seal on both of side
P6 Dimension and rolling precision meet ISO stand BT B

tolerance Level 6 RS Contact-type seal on single side

RETFBHEETT & 1SO 2% 5 RinE WREBLEEEEALE, TIERERX150C
P5 Dimension and rolling precision meet ISO stand S0

Bearing ring after high temperature tempering process,

t°'er?"°e LOWHS: the working temperature can reach 150 C
co B e sisaonm: MAEBSTHEEKAIE, TIERETA 2000
= NTEAME Smal than basic clerance 1 Bearing ring after high temperature tempering process,
C3 FBREE CO ZHA Clearance bigger than CO the working temperature can reach 200 C
c4 HEPREE C3 AKX Clearance bigger than C3 WREBLIREBEALE, TRERIA250C
cs 5BREL C4 4AA Clearance bigger than C4 S2 Bearing ring after high temperature tempering process,
SETESERL AR T i e Eh T TR SR the working temperature can reach 250 C
co Special clearance,normally customed by client or special WERERSIIEREALE, T/ERERIA300C
industrial condition requirement 83 Bearing ring after high temperature tempering process,
- fﬁghiﬁ’_ﬁiﬁtﬁfi%ﬁﬂ., ﬁiﬁiﬁ'ﬁlﬁ;ﬁor rol the working temFerature can reacr:n 300C '
s g 70" e urcaton ol 1o | |* T ek smemRE AR, TIFRAE 00
SNELEA A RTL, . earing ring after high temperature tempering process,
w26 fvﬁh:;.beaﬁg ‘:ui?rﬁ: l'ha;:jE S’Eﬁﬁition oil hole, no the working temperature can reach 350 €
lubrication groove X2 FEIFIR Non-standard width

EE



i
Ld

http://www.nsarbearings.com

—

RN
=

HAEKS

Bearings No.

SRR (mm)
Boudary Dimensions

RERST
Installation Dimension

#S New [HRKSOd WEd $MED FEB MiEda 4MEDa FERa

22205/20E 20 52 18 256 464 1
22205CCW33 | 53505 25 | 52 18 306 464 1
22206CC/W33 | 53506 30 | 62 20 356 564 1
22207CCW33 | 53507 35 | 72 23 42 65 1
22208CCW33 53508 40 | 80 23 47 73 1
22209CCW33 | 53509 45 | 85 23 52 78 1
2221000W33 | 53510 50 | 90 23 57 8 1
22211CCW33 | 53511 55 | 100 25 64 91 15
22212CCW33 | 53512 60 | 110 28 69 101 15
22213CC0W33 | 53513 65 | 120 31 74 111 15
22214CCW33 | 53514 70 | 125 31 79 116 15
22215CCW33 | 53515 75 | 130 31 84 121 15
22216CCW33 | 53516 80 | 140 33 90 130 2
20217CCMW33 | 53517 85 | 150 36 95 140 2
22218CCW33 | 53518 90 | 160 40 100 150 @ 2
22219CCW33 | 53519 95 | 170 43 107 158 2
22220CC/W33 | 53520 100 | 180 603 112 168 2
2222200W33 53522 110 200 53 122 188 2
22224CCW33 | 53524 130 | 215 58 132 203 2
22226CCW33 | 53526 130 | 230 64 144 216 25
22228CC/W33 | 53528 140 | 250 68 154 236 25
222300CW33 | 53530 150 | 270 73 164 256 25
22232CCW33 | 53532 160 | 290 80 174 276 25
22234CCW33 53534 180 310 8 188 292 3
22236CC/W33 | 53536 180 | 320 86 198 302 3
22238CCW33 | 53538 190 | 340 92 208 32 3
22240CC/W33 | 53540 200 | 360 4 | 218 342 3
22244CCW33 | 53544 220 | 400 108 237 383 3

AR HE S5 (KN)
Basic Load Rating
RAECH k)
Dynamic Cr  Static Cor
451 40.5
451 40.5
58.9 55.2
79.6 78.2
88.8 82.8
93.8 90.1
95.7 994
1156 116.8
143.6 182.7
178 199
191 210
195 221
217 249
362 299
299 345
350 414
391 451
515 589
580 704
680 860
650 830
780 990
1290 920
1030 1340
1080 1430
1170 1500
1350 1780
1620 2170

D d,
s—A—A v
v ] L,
/;// i ﬁ
AR BR 4% 1% (r/min) EE(KG)
Limit Rotational Speed Weight
503 Crease  iFEOI
Lubrication Lubrication

11050 14450 0.28
11050 14450 0.26
8500 11900 0.29
7650 10200 0.43
6800 9350 0.55
6375 8500 0.59
5950 8075 0.87
5355 7225 0.88
4760 6375 1.22
4250 5950 1.63
4250 5695 1.66
4080 5355 1.75
3655 5100 22
3400 4760 28
3230 4505 4
3060 4080 42
2890 3825 5
2550 3400 74
2380 3230 92
2210 3060 1.2
2040 2720 14.5
1870 2550 18.5
1700 2380 22
1615 2210 29
1530 2210 30
1455 2040 35.3
1360 1870 477
1275 1700 60.5

AR S

Bearings No.

SRR (mm)
Boudary Dimensions

RER

Installation Dimension

ht_t_‘p://www.nsarbearings.com

N\ C

BEARFE R (KN)
Basic Loa_d Rating

#R PR &% 52 (r/min)
Limit Rotational Speed

o . ; o Bt gefafr | I2i@i8Grease B
FMES New |IRRSOd) REd| HED REB | MEda SMEDa RERa | i o | SiaficCor | Lubrication | Oif Lubrication
21305CC/W33 53305H 25 62 17 32 B85 1 41.4 41.5 7225 10200
21306CC/W33 | 53306H 30 | 72 19 | 37 65 | 1 50 | 56 6375 8500
21307CC/W33 | 53307H 35 | 80 21 | 44 71 | 15 60 | 66 5695 8075
21308CC/W33 53308H 40 90 23 | 49 81 15 95.7 994 5950 8075
21309CC/W33 | 53309H 45 | 100 25 | 54 91 | 15 115 | 116.8 5355 7225
21310CCG/W33 | 53310H 50 | 110 2r | 61 98 2 143.5 | 153 4760 6370
21311CC/W33 53311H 55 120 29 | 65 110 2 143.5 152.7 4760 6375
21312CC/W33 | 53312H 60 | 130 N | 72 18 | 2 195 | 220 4080 5355
21313CC/W33 | 53312H 65 | 140 3 | 77 128 | 2 217 | 248 3655 5100
21314CC/W33 | 53314H 70 | 150 3% | 8 138 2 262 | 299 3400 4760
21315CC/W33 | 53315H 75 | 160 37 | & 148 2 262 | 300 3400 4760
21316CCW33 | 53316H 80 | 170 3 | 92 158 | 2 299 | 345 3230 4505
21317CC/W33 | 53317H 8 | 180 41 | 99 166 | 2.5 299 | 345 3230 4505
21318CC/W33 | 53318H 90 | 190 43 | 104 176 | 25 350 | 414 3060 4080
21319CC/W33 | 53319H 95 | 200 45 | 109 186 | 2.5 391 | 451 2890 3825
21320CC/W33 53320H 100 215 47 114 201 25 391 451 2890 3825
RS ShEERSE (mm) # % R <FInstallation £ A HE 7 (Kn) A8 PR 5% 1 (r/min)
Bearings No. Boudary Dimensions Dimension Basic Load Rating Limit Rotational Speed
e » > , ) shiafa ¥afafd | BEJHiBGreasel HiEEOIl
RS New HiEd ED | EEB | Hifda JMEDa HERa Dynamic Cr Static Cor | Lubrication | Lubrication
22308CC/W33 40 90 | 33 | 49 81 150 | 138 1288 | 5100 | 6800
22309CC/W33 45 = 100 | 36 | 54 91 | 1.50 168.4 168.4 4505 5950
22310CC/W33 50 110 | 40 | 60 100  2.00 202.4 206.1 4760 6375
22311CC/W33 55 120 43 65 110 2.00 284.4 257.6 3655 4760
22312CC/W33 60 130 | 46 | 72 @ 118 2.00 285 | 308 3400 4505
22313CC/W33 65 140 | 48 | 77 128 2.00 313 | 331 3230 4250
22314CC/W33 70 150 51 82 | 138  2.00 368 | 396 2890 3825
22315CC/W33 75 160 | 55 | 87 148 2.00 405 | 437 2720 3655
22316CC/W33 80 170 | 58 | 92 158 2.00 451 497 2550 3400
22317CC/W33 85 180 60 99 166 2.50 506 570 2380 3230
22318CC/W33 90 190 | 64 | 104 176 2.50 560 640 2210 3060
22319CC/W33 95 200 | 67 | 108 186 2.50 616 704 2210 2890
22320CC/W33 100 215 | 73| 114 201 2.50 750 874 2040 2890
22322CC/W33 110 240 | 80 | 124 226 2.50 874 1030 1700 2380
22324CC/W33 120 260 | 86 | 134 246 2.50 888 1030 1700 2210
22326CC/W33 130 280 | 93 | 148 @ 262 3.00 1030 1210 1530 2040
22328CC/W33 140 300 | 102 | 158 = 282 @ 3.00 1190 1430 1445 1870
22330CC/W33 150 320 108 168 302 | 3.00 1340 1620 1360 1870
22332CC/W33 160 340 | 114 | 178 = 322 3.00 1530 1800 1275 1615
22334CC/W33 170 360 | 120 | 188 342  3.00 1620 1990 1190 1530
22336CC/W33 180 380 126 198 362 3.00 1840 2250 1105 1445
22338CC/W33 190 400 | 132 | 212 378  4.00 1950 2440 1020 1360
22340CC/W33 = 200 420 | 138 | 222 398  4.00 2130 2670 1020 1275
HMAERS SR (rom) LERT H AT E R B(KN) A% BR %% 35 (r/min)
Bearings No. Boudary Dimensions |  Installation Dimension Basic Load Rating Limit Rotational Speed
- - . . B A o AT HEHiBCrease HiEiB
RS Now _ IR 50 _ mid | hED EEB _ Rida 5h#0a | RERa Dynamic Cr  Static Cor | Lubrication | Qil Lubrication |
23126 CC/W33 | 3053726H 130 | 210 64 | 140 200 | 2 515 718 2040 2720
23128 CC/W33 | 3053728H 140 | 225 68 | 152 213 2 580 830 1870 2380
23130 CC/W33 | 3053730H 150 | 250 80 | 162 238 2 760 1100 1700 2210
23132 CC/W33 | 3053232H 160 | 270 86 | 172 258 2 900 1260 1615 2040
23134 CC/W33 | 3053734H 180 | 280 88 | 182 268 | 2 962 1380 1530 2040
23136 COW33 | 3053736H 180 | 300 96 | 194 286 25 1100 1620 1445 1870
23138 CG/W33 | 30563738H 190 | 320 104 | 204 306 | 25 1260 1910 1275 1700
23140 CC/W33 | 3053740H 200 | 340 112 | 214 326 | 25 1470 2170 1275 1615
23144 CC/W33 | 3053744H 220 370 120 237 353 3 1650 2530 1105 1445

3
\&"\

| E®(KG) |

Weight

0.28
0.41
0.55
0.71
0.95
1.35
1.6
1.95
245
3
3.55
4.2
5
5.8
7.15
8.8

| EB(KG)

Weight

R

1.1
1.4
1.9
2.4
3
3.6
4.4
5.4
6.4
7.4
8.8
10.3
13
18.1
22
29
36
43
51
60
70
81
94

8.55
10.5
16
205
215
27.5
345
42.5
53.5

&R (KG)
| Weight

24



http://www.nsarbearings.com |

25

EKS HRRT (mm) RERT 3 5 R $ 75 (KN) 1R PR 4% 4 (/min) E2(KG)
Bearings No. Boudary Dimensions Installation Dimension Basic Load Rating Limit Rotational Speed Weight
e s ; A fT ety | BB Grease | iR
FHE New | BRBOd| B | SMED | REB | Wieda ShEDa | WERa | 0w o | Satic Cor | Lubricaton | O Lubrication| =
23022 CC/W33 | 3053220H 110 | 170 | 45 | 120 | 160 2 285 404 2890 3655 3.75
23024 CC/W33 | 3053124H | 120 180 46 | 130 70 | 2 | 327 469 2720 . 3400 43
23026 CC/W33 | 3053126H | 130 | 200 52 | 140 190 | 2 | 39% | 561 2380 3060 6.2
23028 CC/W33 | 3053128H| 140 | 210 = 53 | 150 200 | 2 | 430 | 620 2210 | 2890 6.7
23030 CC/W33 | 3053730H | 150 | 225 56 | 162 213 2 470 690 2040 2720 8.14
23032 CCW33 | 3053132H | 160 | 240 60 | 172 228 | 2 | 540 810 2040 | 2550 205
- 23034 CC/W33 | 3053134H | 170 | 260 67 | 182 248 | 2 | 850 790 1870 2380 13.1
23036 CCW33 | 3053136H 180 | 280 | 74 | 192 288 | 2 | 760 | 1150 1700 | 2210 17.4
23038 CC/W33 | 3053138H | 190 | 290 75 | 202 278 2 790 1230 1615 2040 18.4
23040 CC/W33 | 3053140H | 200 | 310 82 | 212 208 | 2 | 92 14100 1530 1870 234
23044 CO/W33 | 3053144H | 220 | 340 90 | 233 327 | 25 120 | 1710 1360 1700 335
HEKS SRS (mm) LR B 2R 5 78 £ 1o (KIN) % PR 4% 32 (r/min) E8(KG)
Bearings No. Boudary Dimensions Installation Dimension Basic Load Rating Limit Rotational Speed Weight
e e 4 . 2 MG gt | AgiAiEGrease AR
| HLS New IRftS0d MEd 2D REB Mikda ShEDa RERa Dynamic Cr | Static Cor Lubrication  Qil Lubrication
| 23218COW33 | 3053218 90 | 160 524 100 150 @ 2 327 | 405 2380 3230 46
| 23220CcC/W33 | 3053720H 100 180 603 112 138 2 437 552 2040 2890 6.7
| 23222CCW33 | 3053222H 110 200 698 = 122 | 188 @ 2 552 | 704 1870 2720 9.7
| 23224CcOW33 | 3053224H 130 215 76 | 132 | 203 2 639 | 856 1700 | 2380 12
23226 CC/W33 | 3053226H 130 = 230 | 80 144 | 216 25 720 | 970 1615 | 2210 14
| 23228CC/W33 | 3053228H 140 250 88 | 154 236 25 840 | 1150 1445 | 2040 18.5
23230 CC/W33 | 3053230H 150 = 270 | 96 164 | 256 25 990 | 1340 1360 | 1870 24
| 23232 CCW33 | 3053232H 160 290 104 = 174 = 276 = 25 1120 | 1530 1275 1870 30
| 23234 CC/W33 | 3053234H 180 | 310 110 = 188 | 292 3 1220 | 1780 1180 1700 36.5
23236 CC/W33 | 3053236H 180 320 | 112 198 | 302 3 1380 1950 1105 1615 69
| 23238CCW33 | 3053238H 190 340 120 208 | 322 3 1530 | 2210 1105 1530 47.5
| 23240CcCOW33 | 305324H 200 360 128 218 342 3 1710 | 2480 1020 | 1445 57
| 23244 COW33 | 3053244H 220 | 400 | 144 237 383 3 2170 | 3170 0935 | 1275 81.5
AR S SR (mm) RERT A 517 (KN) 4R BR %5 3 (/min) Fg(m)
Bearings No. Boudary Dimensions Installation Dimension Basic Load Rating Limit Rotational Speed | Weight |
e (= e . AT Bt | BEi0iBGrease i
S New IR S0d| P&d | #ED XEB |HEda 5MEDa| BERa Dynamic Cr  Static Cor Lubrication  Oil Lubrication = ‘
| 24024 CC/W33 | 4053124H 120 180 60 130 170 2 396 616 | 2040 2800 | 54
| 24026 CCW33 | 4053126H 130 | 200 69 140 190 2 497 750 1700 2550 7.95
24028 CC/W33 | 4053128H 140 | 210 69 150 200 2 520 | B30 1700 2380 8.45
| 24030CCW33 | 3053130H 150 | 225 75 | 162 213 2 600 | 960 153 2210 10.5
24032 CC/W33 | 4053132H 160 | 240 80 172 | 228 2 690 1100 1445 2040 13
| 24034 CO/W33 | 405313H 180 | 260 90 182 | 248 2 860 1340 1360 2040 175
24036 CC/W33 | 4053136H 180 | 280 100 192 268 2 990 1590 1275 1870 23
| 24038CC/W33 | 4053138H 190 | 290 100 202 278 2 1030 1650 1190 1700 24
| 24040 CC/W33 | 4053140H 200 | 310 109 212 298 2 1190 1950 1105 1615 30.5
| 24044 CC/W33 | 4053144H 220 | 340 118 233 | 327 25 1430 2390 1020 1445 40 |
WAENKS IR C(mm) RERT £ 7 51 7 £ 16 (KIN) B PR %% 3 (r/min) EE(KG)
Bearings No. Boudary Dimensions Installation Dimension Basic Load Rating Limit Rotational Speed Weight
o o - . At gt | P5iHiGGrease  5H3EE
H S New .lﬁﬁ?‘o'd‘ MiEd ShED | REB Wizda MZDa RERa Dynamic Cr | Static Cor | Lubrication  Oil Lubrication =
| 24122CCW33 | 3053722H 110 180 69 120 170 2 478 | 690 | 1870 3060 6.85
| 24124CC/W33 | 4053724H 130 200 80 | 130 190 2 603 874 1615 2210 10
| 24126 CCW33 | 4053726H 130 210 80 140 200 2 630 | 920 1530 2040 11
| 24128CC/W33 | 4053728 140 225 85 | 152 213 2 700 | 1070 1445 2040 13
24130 CCOW33 | 4063730H 150 250 100 162 238 2 940 1410 1275 1870 195
| 24132CCW33 | 4053132H 160  2r0 109 172 258 = 2 1080 | 1620 1180 1815 25
| 24134CCW33 | 4053734H 180 = 280 109 = 182 268 = 2 120 | 1710 1105 1615 265
| 24136 CC/W33 | 4053736H 180 300 118 194 286 25 1290 1990 1105 1445 335
| 24138CC/W33 | 4053738H 190 320 128 204 306 25 1470 | 2300 1020 1360 42
| 24140CC/W33 | 4053740H 200 340 140 214 326 25 1660 | 2580 935 | 1278 52
| 24144 CCW33 | 4053744H 220 370 150 237 353 3 1950 3080 850 1190 67

PILLOW BLOCK BALL BEARINGS

NSAR’

BEARINGS




NEVER STOP ALWAYS RUN

NSARZKEAT AR R EHER—HLE AN, BRMREERT—MOMMITRIBRRIFOME. BTHATRRIFHEITR
&, MREGHATRSREHEOSNN, HIBRARMLITERE, HWAZRE L TRHEE R EERITR], MR TR

Periodic inspection

(B) MFL--7EihASNER A B = IL AT Bl 4 NSAR ball bearing units do not need to be inspected as frequently as lower quality bearings.However it is good practice to set up an

A EBROAIE R EH . , g‘) siq:‘%ﬁ_gnﬁ]wf s et inspection schedule for even these high quality bearings.
el e SR e Since a ball bearing unit cannot be disassembled for inspection if the internal status of components,the external appearance of the
efficient flow of grease to ball and raceways. (G) SHENE (FRRINEE) bearing must be inspected to give tell-tall signs of the status and expected life of the bearing.The following characteristics must be
: souu:fgg Zr)'lg of bearing (Spherical outside checked per the inspection schedule that is established for a particular application.
3 iy o i e 7
N ot e e v . (F) A RN T S E ARG k5N Overall appearance
Steel plate slinger—Perfect sealing with steel slinger ‘ “ﬁ I8, WJLARGIERBE R LR BT IR S AR LN

Qil seals--Synthetic rubber seals placed between

1.3 7R PR B Y R 42 [ TE AR AR TN

and synthetic rubber seals excludes dust

efficiently. Centrifugal force generated by shaft rotation the inner ring and the outer ring prevent lubricating = =
also prevents the grease from leaking out of bearing. grease from leaking as well as preventing moisture 2 RENTENRE "
and dust from entry. 3 iHAEFMAERRE
| 4. AR R ERRE BT SNET LD, HFoRMANST G ERME.

(CHETNIRET (HAAA) AU ARA IR

ROFARE .
Hollow set screw--Two hollow set screw ensures
easy and firm mounting on a shaft.

ring

w 2 s (H) EfFI{R¥FR%--Ball and cage

(1) %A (FEOE) --Wide inner

1.Looseness of set screw of bearing inner ring or of the mounting bolts.
2.Noise from vibration
3. Temperature of the bearing housing or the inner ring.
4.Grease supply interval and quantity of grease injected into the bearing either too much or too little grease can be detrimental to the
life of the bearing

HpE T ERIHE SEBMTENRE FESz
Faults Excessive torque Abnormal noise abnormal vibration Abnormal temperatures
(D) 47K (HTREE) —MESHIRS b 4 S A 1. BgAE (1)824d Wk A My R R g (1) JBRBERRELLD
Cast-iron housing —of steel structure and fault-free. 2.0 EaYHE T B (2)P~]E$ﬂ$ﬁiﬂ‘lﬂiﬂ$ﬂ§i‘-ﬁ (2) FEAHETFRESRIF
BIR (3)sh oA B ek & AR L N\ hiR (3) BEMEER
3. RIFRYEER (4)H T B 5 15 AL Y PR 25 Bk i) BE IR (4) HEMIRLL, BEE, MBIFRE)
433 AN T HhaYE T (5) T B A i G Al S E FLR B R I AR (5) FEEM T MAE T
(6)4hYHh TN ih (6) T EHEFERNRRS KA ER
EEA (1) Degrade grease (1)Improper tightening of set screws or of (1)Degraded grease
Causes (2) Interference of seal with mounting bolts (2)Interference of seal with slinger due to

slinger due to excessive
supply of grease

(2)Wear on inner ring of bearing or shaft due to

creep or fretting

excessive supply of grease
(3)Deformation of slinger casing interfer-

2/

H1 BT B R4 ¥e IS svirbols 18 riBET (3) Deformation of slinger (3)Ingress of foreign matter dirt into bearing ence with seal ] .
Components Materials used ym casing interference with seal | (4)Damage to cage or ball rolling surfaces due (4)Looseness of setscrew eccentric locking
(4) High load due to shaft to rolling fatigue ring or adapter lock nut for bearings
| expansion (5)Dent on raceway surface or ball rolling (5)Load due to shaft expansion
REE AU LS R B3 . S25C JISG4051 surface because of excessive load (6)Damage to cage or ball rolling surfaces
Sleeve for adapter Carbon steel for machine structural use (6)Warped or bent shaft. due to rolling fatigue
£t g
3 AU OB S25C JISG4051 TR Sy ,4,&.1:\
Nut for adapter Carbon steel for machine structural use T B e B 7= NN\
//// \\\ \\_\/;%— :3&\ ] / W \ —{—/{:%’/i M

igg *ﬂ.mﬁm% E‘J;@%ﬂ SPC SG / ”/’ﬁ:\\\ \ Ll M - ,/—l—\ \ \\\ ot i

; PCC JISG3141 ! \\\H \ TS i R o, AN o8/
Washer for adapter Cold steel for machine structural use M \SE /\\\\ =7 // {7/;@:\-%\\\ NS

% \‘\\\ =/ DA BRI - TiT
bS] SRTHREERE I s == g R b X \\_\;i i) ) < ||| P
Oil seal Synthetic nitrile rubber " OIS NS
B LA - - T e p\Z4
7 3 T UCFB
Slinger Cold rolled carbon steel sheet and strip SREC I8 G314
Ayl 323 REBIEM
Hexagon set screw Nickel chromium molybdenum steel SCMA35 JISG4105
RARF IR EN
Hexagon wrench key Nickel chromium molybdenum steel SHENEAg JUIse4103
becbiz:l Z UIHI B
4 I 2

Grease nipple Free cutting brass bar Cc380 JISG3250 UCK

cd



http://www.nsarbearings.com | T = - : e —— | http://www.nsarbearings.com >

THEHE UCP | T EEsHE UCFL

o Shaft Dia ) . - -
i d sl . HARS A8l e R'<tDimensions(mm) E8
Bearings No. i i i i -~ Weight (kg) : d _ : _ _ _ ' Weight (kg)
7 mm  h a e b 8s1 S2 g w n B | Bearings No. o 7 5 b : 5 I = = = eig g
R a0a D e e el LD D UCFL 202 15 113 9 60 15 12 255 309 12 127 310 040
UCP 203 17 302 127 95 38 13 19 14 | 62 127 310 0.66 i i
UCP 204 20 333 127 95 38 13 19 14 | 65 127 310 0.65 SCFL e e e e0n B e a0 STl el s e e T D TeA0
UCP 205 25 365 140 105 38 13 19 | 15 | 71 143  34.1 0.75 UCHL 204 120 | M1 80 L 60 | A5 | 12 | 255 | 33.7 | 12 | 427 | 31 ____ 040
UCP 206 30 420 | 165 | 121 | 48 | 17 | 21 | 17 | 83 | 159 | 38.1 1.20 UCFL 205 25 130 99 68 16 14 270 358 16 143 341 060
UCP 207 25 276 | 167 | 127 148 | 17 | 21 | 18 | 83 | 175 | 420 150 UCFL 206 30 148 117 80 18 14 310 402 16 159 381  0.85
UCP 208 40 492 184 137 54 17 21 18 98 190  49.2 1.90 UCFL 207 35 161 130 90 19 16 340 444 16 175 429 1.10
UCP 209 45 | 540 190 146 54 17 21 20 106 190 492 205 UCFL 208 40 175 144 100 21 16 360 512 16 19.0 492 1.40
UCP 210 50 | 572 206 159 60 20 | 25 21 | 114 190 516 260 UCFL 209 45 188 148 108 22 18 380 522 19 190 492 1.70
UCP211 55 635 219 171 60 20 | 25 23 126 222 556 345 UCFL210 50 197 | 157 115 22 18 400 546 19 190 516 210
UCP 212 60 698 241 134 70 20 25 25 138 254 651 450 UCFL211 55 224 184 130 25 20 430 584 19 222 556 3.0
UcP213 65 762 265 203 70 25 = 29 27 151 254 651 520 UCFL212 60 250 202 140 29 20 480 687 23 254 651 370
UcP214 70 794 266 210 72 25 | 31 27 157 302 746 6.0 UCFL 213 65 258 210 155 30 24 500 697 23 254 651 450
UCP 215 75 826 275 217 74 25 31 28 | 163 333 778 7.00 UCFL 214 70 265 216 160 31 24 540 754 23 302 746 510
UCP 216 80 889 202 232 78 25 31 | 30 175 333 826 8.10 UCFL215 75 | 275 | 225 | 165 | 34 | 24 | 560 | 785 | 23 | 333 | 778 | 530
ucp 217 85 952 310 247 8 25 31 32 187 341 87 = 980 . UCFL216 80 290 233 180 34 24 580 833 25 333 826  7.20
Ucr2is 40 101.6 | 927 | 202 B8 @1 | 38 | @ | B0 | S84 | 960 1160 UCFL 217 85 305 248 190 36 26 600 876 25 341 857 840
UCFL 218 90 320 265 205 40 26 680 963 25 397 960  10.50
& ® & o
I SR type secl % Sk type seal
dl 2l ] js
5t @ Y
o (A | |\@/}
b ] T tpe seal ﬁ. o T et
U C P B 3
A UCF UCFL# % UCFCH#Mfik
Shaft Dia . .
AR S q R~fDimensions(mm) = EREiMAE UCFC
Bearings No ' ' | ' & Weight (kg)
g : mm a e i g | z s n Bi Jo Shaft Dia D . _
UCF 202 15 8 64 15 11 255 309 12 127 310 0.60 ?’@ﬁ \ d el Biteos tuston _
UCF203 17 | 8 64 15 11 255 309 12 127 310 060 | e mm a | p | i | g| ] k s e f z n B Weightky)
UCF 204 20 86 64 15 11 255 337 12 127 31 0.60 | UCFC202 15 100 78 10 21 5 7 12 851 62 269 127 31 072
UCF 205 25 95 70 16 . 13 - 27.0 . 35.8 12 14.3 . 34.1 0.80 UCFC 203 17 100 78 10 21 | 5 7 12 551 | 62 259 12.7 31.0 0.7
irs % s s 8 i sio 402tz 60 1 io - NS E AR S E AN N AT
. 35 17 | 92 | 19 115 ) 340 | 444 | 14 | 175 | 42.9 145 UCFC 206 30 125 100 10 23 8 8 12 707 8 322 159 381 13
LCE 208 40 30 OA T T e e B D 2 IO RIS ORRaD £ 14 UCFC 207 35 135 110 11 26 | 8 | 9 14 778 90 364 175 429 182
UcF209 | 45 137 105 22 16 380 522 16 19.0 492 = 215 | UCFC208 40 145 120 11 26 | 10 9 14 848 100 412 190 492 215
UCF210 50 | 143 111 22 16 400 546 16 190 516 245 | UCFC209 45 160 132 10 26 12 14 16 933 105 402 190 492 272
UCF211 | 55 162 130 25 18 430 584 19 222 556  3.10 UCFC 210 50 165 138 10 28 12 14 16 976 110 426 190 516 293
UCF 212 60 175 = 143 29 18 480 687 19 254 65.1 4.15 UCFC 211 55 185 150 13 31 12 15 19 106 125 464 222 556 406
UCF213 | 65 187 149 30 22 500 697 19 254 651 | 5.00 | UCFC212 60 195 160 17 36 12 | 15 19 113 135 567 254  65.1 4.95
Gr2ie 70t s 31 2 st0 T4 f9 w2 s se N O N0 O
LCP 28 D e a Pl Bt L 2E Lot g LT L9 el | UCFC215 75 220 184 18 40 16 18 19 130 160 625 333 778  7.62
UCF216 80 | 208 165 34 22 580 833 23 333 826 750 | UCFC216 80 240 200 18 42 16 18 23 141 170 673 333 826 917
ur217 | 8 | 220 175 36 | 24 630 876 23 341 8.7 | 960 UCFC 217 85 250 208 18 45 18 | 20 23 147 180 696 341 857  10.83
UCF218 9 | 235 187 40 24 680 963 23 397 960 1210 UCFC 218 90 266 220 22 50 | 18 20 23 156 190 783 397 960  13.01

£q 30



http://www.nsarbearing. http://www.nsarbearing

NEVER STOP ALWAYS RUN NEVER STOP ALWAYS RUN

T PESH & UCT

i £ %h7% Rod ends SI...T/K

ImER S Sha(;t i R Dimensions(mm) Wi;i?ht
Bearings No. - - : - - ; SI...T/K
mm o g s p q b k e a w i i h n Bi (kg) B,
UcCT 202 15 16 10 51 12 19 | 51 12 | 76 89 |94 32 21.0 61 |[12.7| 31 0.78 4C1._
UCT 203 17 16 10 51 12 19 |51 |12 |76 | 89 |94 32 21.0 61 |127/31.0 0.78 i -
UCT 204 20 16 10 51 12 19 | 51 12 | 76 | 89 |94 32 21.0 61 12.7/31.0 0.76 % Rs
UCT205 25 16 10 51 12 19 51 12 |76 89 97 32 24.0 62 14.3 341 0.82 dI 1 .
UCT 206 30 16 10 56 12 22 |57 |12 89 | 102 |[113 37 28.0 70 15.9 381 1.22 - E\
UCT207 35 16 13 64 12 22 64 12 89 102 129 37 30.0 78 17.5 42.9 1.44 % .
UCT 208 40 19 16 83 16 29 |83 | 16 102|114 144 49 33.0 88 [19.0 /49.2 2.4 O & L
UCT 209 45 19 16 83 16 29 83 | 16 | 102|117 144 49 35.0 87 [19.0/49.2 2.42 Maintenance free i I
UCT 210 | 50 19 16 | 83 16 29 83 | 16 102 117 149 49 37.0 90 |[19.0 | 51.6 2.46 !
UCT 211 55 25 19 102 22 35 95 | 22 130|146 171 61 38.0 106|22.2 | 55.6 4.16 B AR A A RES R RERT P IREL E i i L
UCT 212 60 32 19 102 22 35 102 22 | 130 146 194 61 42.0 119 25.4 651 4.98 Rod body with left or right-hand female thread b F v
UCT 213 65 32 21 111 26 41 121 26 151 167 224 70 44.0 137 254 651 6.69 W% PTFE SaHs :
UCT 214 70 32 21 111 26 41 (121 | 26 | 151 167 (224 70 46.0 137 30.2 746 7.13 Sliding contact sarfaces: steel/PTFE h—
UCT 215 75 32 21 111 26 41 121 26 151 167 232 70 48.0 140 33.3 77.8 7.47 Bk G 43\’—3.
UCT 216 80 32 21 111 26 41 |121| 26 | 165| 184 |235 70 51.0 140/33.3 826 8.33 Surface of rod body zinc plated
UCT 217 85 38 29 124 30 48 157 30 173 198 260 73 54.0 162 34.1 85.7 11.02
R~tmm AT KN
B 5 (Dimensions) Loadratings E&E 9
" g Part Number 4 0 o ol W - o e | ol as 0 0 T T re— Weight
) Z J—g 5 ‘ﬁ%’b SIST/K | 5 M5x08 8 6 | 9 | 27 18 3 4 85 11 1111 10 13 | 570  6.00 16
’/fi - \- il UJ:&_L%:L ﬂ—% SIBT/K | 6 M6x1.0 9 675 11 | 30 20 40 5 10 13 1270 12 13 | 7.20  7.65 22
\ o |}
J}%’ Ns[_( @ -t e SIBT/K | 8 MBx125 12 9 | 14 36 24 48 5 125 16 15875 16 14 | 11.6 129 47
B SMOT/K | 10 M10x1.5 14 105 17 43 28 57 65 15 19 19.05 20 13 | 145 180 77
g, o i r;! - S1O-1T/K | 10 M10x125 14 105 17 | 43 28 57 65 15 19 19.05 20 13 | 145 180 77
h "*if'fuw SH2T/K | 12 M12x1.75 16 12 | 19 | 50 32 66 65 17.5 22 22225 22 13 | 17.0  24.0 100
» ' S12-1T/K | 12 M12x1.25 16 12 | 19 | 50 32 66 65 175 22 22225 22 13 | 17.0 240 100
UCT B U CPATH B SH4T/K | 14 M14x2.0 19 135 22 57 36 75 8 20 25 2540 25 16 240  31.0 160
. SI14-1T/K | 14 Mi14x15 19 135 22 |57 36 75 8 20 25 2540 25 16 | 240  31.0 160
R UCPA SHET/K | 16 M16x20 21 15 24 | 64 40 84 B 22 27 28575 28 15 | 285  39.0 220
HWARS Rt Dimensions(mm) 8 SH6-1T/K | 16 Mi16x1.5 21 15 24 | 64 40 84 8 22 27 28575 28 15 285  39.0 220
Eesring=tio. i = & J L o= s B 2 Wyelght Clg) SM8T/K | 18 M18x15 23 165 27 71 44 93 10 25 31 3175 32 15 425 475 320
SRl g ie - b jith b = = 1ol L sizoTic | 20 M2ex15| o5 | 1e- | im0 | v | S0 |02 | 10 (27| 34 [Bases oy | 14 | dzs | 520 420
UCPA 202 30.2 76 40 52 M10 62 15 31 12.7 0.57
CPa 553 v 76 s = O P i = 157 P SI22T/K | 22 M22x1.5 28 20 32 84 54 111 12 30 38 3810 87 16 57.0  68.0 540
UCPA 204 302 76 40 52 M10 62 15 31 12.7 057 SI25T/K | 25 M24x20 31 22 | 36 | 94 60 124 12 335 42 4285 42 15 | 680  B5.0 720
UCPA 205 36.5 84 38 56 M10 72 15 34.1 14.3 0.84 SI28T/K | 28 M27x20 35 24 41 103 66 136 14 37 46 4760 51 15 860  107.0 820
UCPA 206 42.9 94 50 66 M4 84 18 381 159 1.12 SI30T/K | 30 M30x2.0 37 25 41 110 70 145 15 40 50 50.80 51 17 | 88.0 1140 1100
UCPA 207 47.6 10 55 80 M14 95 20 429 17.5 1.51 SI30-1T/K | 30 M27x2.0 37 25 41 | 110 70 145 15 40 50 50.80 51 17 | 880 1140 1100
UCPA 208 49.2 116 | o8 84 Mid 100 20 [ 492 | 19 1.9 SI3ST/K | 35 M36x2.0 43 28 50 125 81 1655 17 46 58 5710 56 16 101 206 1600
CRa.R08 264 120 o 2 haL 108 = 2 L 2e SI40T/K | 40 M42x20 49 33 | 55 142 91 1875 19 53 65 66.60 60 17 124 280 | 2400
UCPA 209-26 2-9/64 | 4-23/32 2-23/64 @ 3-35/64 M14 2004/1/4 | ©63/64 1.937 0.748 2.04
UCPA 210 57. 130 64 54 1B 116 o5 51.6 19 593 SISOT/K | 50 M48x2.0 60 45 65 160 117 2185 23 65 75 8250 65 12 308 485 5000
UCPA 210-29  2002/1/4 | 2005/1/8 2-19/32 3-45*64  M16  2004/9/16 63/64  2.0315  0.748 2.23
UCPA 211 63.5 140 66 104 M16 125 25 55.6 222 3.35 -y
UCPA 211-32  2002/1/2  5-33/64 2-19/32 | 4-3/32 M16  4-59/64  63/64 2.189 0.874 3.35 SRy, ARSI L7 B, SIL18 TIK.
UCPA 212 69.9 150 68 114 Mi6 138 25 65.1 254 4.24 -For left-hand thread, please and surffix “L” , e.g.SIL 18 T/K.
UCPA 212-36  2002/3/4 = 5-29/32 2-43/64 @ 4-31/64  M16  2005/7/16 63/64 2563 1 4.24 ~INEAEIRE, ETERSHIEN “S” , B0, SSI8 TIK.
UCPA 213 76.2 160 _ 70 124 M16 150 25 _ 65.1 . 25.4 517 k—h‘neecﬁ the stainless steel material please to add “S” in front of the model for example; SSI8 T/K
UCPA 213-40 3 6-19/64  2002/3/4 | 2004/7/8 M16 5-29/32 63/64 = 2.563 1 5.17

| www.werb.cc



LI : . 20 8
o” S\ http://www.nsarbearing http://www.nsarbearing Sl
B NISAR NEVER STOP ALWAYS RUN NEVER STOP ALWAYS RUN - NSAR HE
L) S3®
AL - AU ===
Frim X Ti4h& Rod ends SA...T/K Frim X Ti4hA& Rod ends PHS
SA...T/K PHS
- B >
LBy
2B o
—
A
g S
—y— 7/ ?
LA Ris
d| =t~ 2 di d| =R g,
s | O\
//' . . V\&:'
Ls Maintenance required
Maintenance —free ry
h B RS A E AR PR
W iR B A fEsk A HERY PRI IRLL Rod body with left or right-hand female thread Lz
Rod body with left or right-hand female thread e
W/ B EEE S J ¥
N PTFE 8818 Quter race lined with bronze liner
Yy v .
Sliding contact sarfaces: steel/PTFE . . . ol g2l
W FintiREEE, BiERLSHN W
B Fim{AEmiE s Surface of rod body zinc plated, rod body with a >
-«
Surface of rod body zinc plated lubricating hole or grease nipple
R=fmm R R~tmm FAFKN
8 5 (Dimensions) Load ratings %ﬁ ﬁ B 2 (Dimensions) Loadratings |E& 9
Part Number eight Weight
d ds B G L g L h Lo d  Ris % Zdync #statco RatENIIhet g de ‘ B G ‘ WL ‘ d: | L ‘ hi | Ls ‘ di | ds | ‘ d | @ ‘ e el
SAST/K 5 M5x0.8 8 | 6 19 18 33 42 1111 | 0.3 13 5.70 6.00 13 ‘ PHS 5 5 M5X0.8 8 6 9 10 16 | 35 | 27 4 8.5 19 31099 | E70 18 3.25 5.70 16 ‘
SABT/K 6 M6x1.0 9 6.75 | 21 20 36 46 [(12.70| 0.3 13 7.20 7.65 20 PHS 6 6 M6X1.0 9 B.75| 11 12 18 | 39 30 B 10.0 13 [12.7 8.96 | 13 4.30 7.20 22
SA8T/K 8 M8x1.25 12 9 25 24 42 54 |15.875 0.3 14 11.6 12.9 38 | PHS 8 8 M8X1.25 12 9 14 16 22 | 47 36 5 12.5 16 (15.875 10.4 14 7.20 11.6 47 |
SA10T/K 10 M10x1.5 14 | 10.5 @ 28 28 48 62 19'05. 0.3 13 14.5 18.0 55 PHS 10 10 M10X1.5 14. | 10.5 | 17 20 26 @ 56 43 6.5 15.0 19 (19.05 12.9 13 10.0 14.5 77
SA12T/K 12 M12x1.75 16 12 32 32 54 70 |22.225 0.3 13 17.0 24.0 85 | PHS 10-1 10 M10X1.25 14 10.5 17 20 26 | 56 43 6.5 15.0 19 [18.05 12.9 |13 10.0 14.5 77 |
SA14T/K 14 M14 x 2.0 19 | 13.5 | 36 36 18 60 78 25.40_ 0.3 16 24.0 31.0 140 PHS 12 12 M12X1.75 16 12 19 22 30 65 50 6.5 175 22 [22.225 15.4 | 13 | 13.4 17.0 100
SA16T/K 16 M16x2.0 21 15 37 40 21 66 87 28,575 0.3 | 15 28.5 39.0 210 | PHS 12-1 12 [M12X1.25 16 | 12 19 22 30 | 65 50 6.5 17.5 22 |22.225 15.4 | 13 13.4 17.0 100 ‘
SA18T/K 18 M18x1.5 23 165 | 41 44 22 72 94 [31.75 0.3 15 42.5 47.5 280 PHS 14 14 |M14X2.0 19| 438 22 25 34 | 74 57 8 20.0 25 |25.4 16.9 | 16 17.0 24.0 160
SA20T/K 20 M20x 1.5 25 18 45 50 25 78 103 34.925 0.3 14 42.5 57.0 380 | PHS 14-1 14 M14X1.5 19 13,5 22 25 34 | 74 57 8 20.0 25 25.4 16.9 16 17.0 24.0 160 |
SAZ22T/K 23 M22x1.5 28 20 48 54 2T 84 111 | 38.10| 0.3 15 57.0 68.0 480 PHS 16 16 M16X2.0 21 15 24 28 38 | 83 64 8 22.0 27 |28.575 19.4 | 15 21.6 28.5 220
SA25T/K 25 M24 x 2.0 31 22 55 60 30 94 124 1 42.85 0.3 15 68.0 85.0 640 | PHS 16-1 16 |[M16X1.5 21 15 24 28 38 | 83 64 8 22.0 27 28.575 19.4 | 15 21.6 28.5 220 |
SAZBT/K 28 M27 x 2.0 35 24 62 66 33 103 | 136 (47.60 0.3 15 86.0 107.0 800 PHS 18 18 |M18X1.5 23 | 16.5| 27 32 42 | 92 71 10 25.0 31 |31.75 | 21.9 | 15 26.0 42.5 320 |
SA30T/K 30 M30x 2.0 37 25 66 70 35 110 | 145 [ 50.80 0.3 17 BB.0 114.0 1100 | PHS 20 20 |M20X1.5 25 18 30 33 46 | 100 77 10 27.5 34 34.925 244 14 _ 31.5 425 420 |
SA35T/K 35 M36x2.0 43 28 85 81 41 140 | 180.5|57.10 0.3 16 101 206 1640 PHS 22 22 |M22X1.5 28 20 32 37 50 | 111 84 12 30.0 38 [38.10 25.8 15 38.0 57.0 540
SA40T/K 40 M42x2.0 49 33 | 90 | 91 46 | 150 195.5 66.60 0.3 | 17 124 280 2300 | PHS 25 25 M24X2.0 31 22 36 42 60 124 94 | 12 335 42 4285 29.6 15 47.5 68.0 730 ‘
SA50T/K 50 M48x2.0 60 45 | 105 | 117 59 185 | 243.5 8250 0.3 | 12 308 485 4800 PHS 28 28 M27X2.0 35 24 41 | 48 | 66 | 136 103 | 14 37.0 46 47.6 32.3 | 15 58.0 75.0 980
| PHS 30 30 M30X2.0 37 25 41 51 70 | 145 110 15 40.0 50 |50.8 34.8 | 17 64.0 88.0 1100 ‘
\ PHS 30-1 30 M27X2.0 37 25 41 51 70 | 145 | 110 | 15 40.0 50 50.8 34.8 | 17 64.0 88.0 1100
P
-EREHER, WARSEM “L" , Hlin. SAL18T/K.
~For left-hand thread, please and surffix “L” , e.g.SAL 18 T/K. st
“INFEAERM L, EERSHEMN “S” , #l40. SSA8 TIK. ik
-If need the stainless steel material please to add “S” in front of the model for example; SSAS8 T/K // —SE g, WRRSHEMD “L” , #lf1. PHSL 8.
—For left-hand thread, please and surffix “L” , e.g.PHSL 8.
- INFERERAE, BERSH@EM ‘S" , Fli0. SPHS 8.
—|f need the stainless steel material please to add “S" in front of the model for example: SPHS 8.
33 ) ® a4



http://www.nsarbearin ://www.nsarbearing

s.com ht

NEVER STOP ALWAYS RUN NEVER STOP ALWAYS RUN

i o T 4R PR S E BT um X T 5 (SEHIPHSB)

Inlaid liner Rod ends with female threaad ( inch dimension PHSB )

I )

POS
PHSB
B
d
- B > dz - C1 » 2
c1 - > J
> - | -
1 VLl
i — (2 e
7/ A I
. 27 R 7\ P O e A ’ _
di| d i dx > Py 7 x
i N ) ;
T\ U A2 L
e AN \\K/ % i’
N 5 | I
==\ O LK L+
: L Maintenance required a4 F
i h 11 A L2
| B iR B e A IEAI PR Z 4 B
(I Rod body with left or right—hand female thread \ Ls| [ \// l
: ds v b
| WINENEES SRR o | ‘
1 : i . S | 4——»
| v + ] Quter race lined with bronze liner — d4
WATHAREES, SRR g8
- ds i Surface of rod body zinc plated, rod body with a
lubricating hole or grease nipple R~fmm
o A L
Fi = (D|men5|ons) o EE
Part Number, d d2 B C1 ] d3 ds L L1 L2 d1 Cd e | = (9)
R~fmm AEKN 1900 6250 312 250 | .312 O:19 406 138  1.06 562 306
B = (Dimensions) Load ratings PHSB 3 ' ' ' 3/16 ) ’ ’ ’ ’ 780 | 2090 13 14
Par Nt EER 9 4.826 15.88 7.92  6.35 | 7.92 -32UNF 10.3 349 27 14.3 7.77
RERAmEr] 4 g O A O & Ris & 2 sdync  Mstarce Weight 2500 7500 375  .281 | .375 025 468  1.69  1.31 75 355
PHSB4 ’ ' ) ' 1/4 ' ’ ’ ' ’ 1030 3040 13 23
‘ POS 5 5 M5X0.8 8 6 20 16 33 41 11.11 03 7.70 13 3.25 5.70 13 ‘ 6.35 19.05 9.53 7.14 9.53 —28UNF 11.9 429 33.3 19.1 9.02
| | | | | ! | e !
POS 6 6 M&X1.0 6.75 22 18 36 45 1270 0.3 896 13 4.30 7.20 20 S 3125 .8750 437 .344 437 516 500 @ 1.81 1.38 .750 447 1530 | aso0 13 36
‘ POS 8 8 MBX1.25 12 9 25 22 42 53 15.875 0.3 10.4 14 7.20 11.6 30 ‘ _7.938 22.23 [ 11.10 | 8.74 | 11.10 —24UNI‘—'_ 12.7 | 46 34.9 19.1 11.35
0.375
POS 10 . 10 M10X1.5 14 10.5_ 29 . 26 | 48 61 19.05 . 0.3 | 12.9_ 13 10.0 14.5 55 PHSB 6 .3750 1.000 .500 406 .562 a8 .687 2.13 1.63 .937 517 2080 4980 13 59
‘ POS 12 12 | M12X1.75 16 12 33 30 54 69 22.225 03 154 13 13.4 17.0 85 ‘ 19.525 2540 12,70  10.31 | 14.27 _p4quNF 175 54 413 23.8 13.13
0.4375
POS 14 | 14 M14X2.0 19 13.5_ 36 | 34 | 60 77 25.40 | 0.3 | 16.9 | 16 17.0 24.0 140 PHSB 7 4375 1.125 .562 437 .625 7116 750 2.38 1.81 1.06 .586 2520 6020 13 82
‘ POS 16 16 M16X2.0 21 15 40 38 66 85 28.575 0.3 19.4 15 21.6 28.5 210 ‘ _11.11 28.58 | 14.27 | 11.10 | 15.88 —20UNF 19.1 | 60.3 | 46 27 14.88
0.5
POS 18 18 M18X1.5 | 23 165 44 42 72 94 3175 03 219 15 26.0 42.5 280 PHSE & 5000 1.812 625 .500 .750 1j2 .875 | 2.78 2.13 1.19 .698 3330 8370 13 132
‘ POS 20 20 M20X1.56 @ 25 18 47 | 46 78 101 34.925 0.3 244 15 31.5 52.5 380 ‘ 12.70 33.32 15.88 12.70 | 19.05 _20UNF 22.2 70.6 54 30.2 s
0.625
POS 22 22 M22X1.5 28 20 51 50 84 111 38.10 0.3 25.8 | 15 38.0 57.0 480 PHSB 10 .6250 1.500 .750 562 .875 5/8 1.00 3.25 2.50 1.5 .839 4500 9050 13 191
‘ POS 25 | 25| M24X2.0 | 31 22 57 60 94 124 42.85 0.3 296 15 47.5 68.0 640 ‘ 15.88 38.10 19.05  14.27 | 22.23 -18UNF 254 82.6 63.5 38.1 21.31
[ | [ [ | 0.75
POS 28 28 M28X2.0 35 24 62 66 103 136 47.60 0.3 323 | 15 58.0 75.5 960 PHSB 12 .7500 1.750 .875 .687 | 1.000 3/4 1.13  38.75 2.88 1.75 .978 6410 12700 13 286
‘ POS 30 30 M30X2.0 37 25 66 70 110 145 50.80 0.3 348 17 64.0 88.0 1100 ‘ 19.056 44.46 22.23 17.45 25.4 —16UNF 28.6 95.3 73 44.5 28.84
PHSB 16 1.000 2.750 1.375 1.000 | 1.500 :12‘,54 1.75 55 413 2.13 1.269 13300 19500 13 098
. 12540 69.85 34.93 2540 | 38.10 -12UNF 445 140 105 54 32.23
fm s
~HRERRS, MALSEN “L” , Fitn. POS 8. - N\
~For left-hand thread, please and surffix “L" , e.g.POSL 8. s
~NEASRAN, SEESa@EM “S” , 4la. SPOS 8. -ERERY, MARSTRBLHRIZEM L" W "E”
~If need the stainless steel material please to add “S”" in front of the model for example: SPOS 8. #lin. POSB6L M3/8 x24g%
—For left-=hand thread surrix “L" is added to bearings number and thread
signeg POSB6L M3/8 x 24gL
SMEDEEAEETR
—~The surface of sphrical plain with a bronze line
-FinEREERE, FEEMILIHT
\ —-To plate zine on the surace of rod body the housing with a lubrication or agrease nipple /




S

NEVER STOP ALWAYS RUN NEVER STOP ALWAYS RUN NSAR IR

R E AT um X T 4l&  (ZEHIPOSB) #FimxTH%& Rod ends GIR...DO

9,

5" SO\ 5 http://www.nsarbearing http://www.nsarbearing

Inlaid Liner Rod Ends With Female Threaad (Inch Dimension Posb ) GIR...DO
POSB . B .
PR - L W

r
did| H—~—F

/ / \
L
7 *ar Maintenance required
L } B R ZRES A REAY MRS
| Rod body with left or right—hand female thread
‘ L2 W BTSRRI £ T AAGE..E (S) 3GE..ES 2RS4
[ It is made up of a radial spherical plain bearing GE..E (S) or
Il | GE..ES 2RS and rod body
B FRAERAEEE, SI..ESERAS DML MR
Lds Surface of rod body zinc plated, housing of SI..ES with a
lubricating hole or grease nipple
. Rstmm (Dimensions)
3 s [ ' a° HiE
PartNumber g d2 B ci d3 L L1 L2 d1 cd  Cs |= (g - (Dﬁjgifgns) Loﬁﬁtings i
| | | | | | | | e
0.19 1.536 1.250 .750 .306 Part Number ' ' I Weight
e .1800  .6250 312 .250 3/16 ~ _ N _ 280 2000 | 13 14 d ds B Ci1 n[;fn W dz | h1 La Ls da ds dk < | Zhdyn.c | #stat.co
4826 15.88 7.92 6.35 _32UNF 39.70 31.75 19.05 7.77
e 5 S 025 1937 1.562 1.000 385 i - ‘ GIR6DO* | 6  M6x1.0| 6 | 44 11 | 11 | 21 30 405 5 10 13 10 13 3.40 8.15 21 ‘
POSB 4 605 | 19.08 053 14 1/4 49-20 3;67 25-40 932 1030 = 3040 | 13 23 GIR8DO* | 8 M8x1.25 8 | 6.0 15 | 14 | 24 36 48 5 125 16 | 13 15 5.50 12.9 39
- A P . _28UNF & = . . . I T il T I T I
| 5125 | 8750 437 | .gaq | 03125 | 2812 1.875 1.250 = .447 [ 1 | GIR10DO* | 10 M10x1.5 9 | 70 =20 | 17 | 29 43 575 65 15 19 16 12 8.15 17.6 61 |
POSBS s | n N . 5/16 58-72 47—63 31-75 11-35 1530 3800 | 13 36 GIR12DO* | 12 Mi2x1.75 10 | 80 23 | 19 | 34 50 67 65 175 22 18 11 10.8 245 96
] 3 i i —24UNF i ) i i 1 i 1 | 1 1 1
ey = e 0.375 2 438 1.938 1.250 517 | GIR15DO | 15 M14x2.0 12 10 30 | 22 40 61 81 8 21 28 22 8 170  36.0 180 |
POSB 6 sl s o . 3/8 61-93 49-23 31-75 13-13 2080 = 4980 | 13 54 GIR17DO | 17 M16x2.0 14 | 11 34 | 27 | 46 67 90 10 24 30 25 10 21.2 45.0 220
; : : . _24UNF ! : : !
4375 | 1125 562 437 0.4375 2688 2.125 1.375 586 | GIR20DO | 20 M20x1.5 16 13 40 32 53 77 1035 10 275 35 29 9 30.0  60.0 350 |
POSB7 1111 | 28.68 1427 110 27(;:]?“': 68‘28 53h93 34‘93 1;33 2520 = 6020 | 13 77 GIR25DO | 25 M24x20 20 | 17 48 | 36 | 64 94 126 12 335 42 355 7 48.0 83.0 640
5{;00 19;12 5;25 5'00 5 3004 2 438 1.500 698 | GIR30DO | 30 M30x20 22 19 56 41 | 73 110 1465 15 40 50 407 6 62.0 110 930 |
posBs8 o 3'332 1.588 s 210/SNF s T e s 3330 8370 13 127 GIR35D0 35 M36x3.0 25 21 60 50 82 125 166 15 47 58 47 6 80.0 148 1300
62;50‘ 15‘00 _'_;50 ! 5.62' 0635 | 3.375 2625  1.625 893 ' ‘ ‘ GIR40DO 40 M39x3.0 28 23 65 55 92 142 188 18 52 65 53 7 100 180 2000 |
POSB 10 1588 | 38.10 1905 1407 1;"[’JSNF 85'73 66-68 41‘28 21'31 4500 = 9050 | 13 186 GIR45D0O | 45 M42x3.0 32 | 27 65 60 | 102 145 196 20 58 70 60 7 127 240 2500
' 75;00' 17'50 575 ‘ E;BT 075 | 3750 2 875 1750 978 ' T | GIR50D0O | 50 M45x30 35 30 68 65 112 160 216 20 62 75 66 6 156 290 3500 |
POsSB12 R e o 125NF o s e ki 6410 12700 | 13 = 295 GIR60DO | 60 M52x3.0 44 | 38 70 | 75 | 135 175 2425 20 70 88 80 6 245 450 5500
"1_{.;00‘ 2_7;50 1_:;75 ' 1_[;00' 125 | 5.500 4125 2125  1.269 ‘ [ ‘ GIR70DO | 70 M56x4.0 49 | 42 80 | 85 160 200 280 20 80 98 92 6 315 610 8600 |
POSB 16 11/4 = = = o 13300 19500 13 1129 GIRBODO | 80 M64x4.0 55 | 47 85 100 180 230 320 25 95 110 105 6 400 750 12000
25.40 69.85 34.93 25.40 -12UNF 139.7 104.8 53.08 32.23
i ) a5 N
-ERARY, BARBSHMBLARIZEM L 1 K" -ERAEEa, WRESEM “L" , Hln. SIL30ES,
Bli: POSBEL M3/8 x24g7% —For left-hand thread,please add surffix “L” ,e.g.sil 30es.
—For left-hand thread surrix “L” is added to bearings number and thread SRR B> 15 BT SE2RSEH . Bilfl: SIZ5ES 2RS
: = = A 4115 2RSE :
signeg POSBEL M3/8 x 24gL ! ' . °
ShETEEE SRR —For bearings d=15 ,SI..ES 2RS also available,e.g.SI 25 ES 2RS.
—Thjsurface of sphrica‘l plain with a bronze line — T S A R AL FLE AR
_ﬁmﬁﬁﬁﬁ%' NI T dn ) . N ; ~Lubricating hole or grease nipple isn’ t available for the sizes marked “*”
\ -To plate zine on the surace of rod body the housing with a lubrication or agrease nipple / \ /

EVAN ) " WL



htt ://www.nsarbari

i L T55h% Rod ends GAR...DO

GAR...DO
' B
> <
C1 d2
> " - - »
%% 4
B / L i e e e e
4 1 Ris
d & :
v i dx
7 Maintenance required
- L2
= X W RS R e A R R
H Rod body with left or right—=hand female thread
1
L W ETIRARIL FHR GE..E (S) 3 GE..ES 2RS A
! It is made up of a radial spherical plain bearing GE..E (S ) or
! v v v GE..ES 2RS and rod body ‘ \
1
ds W iTiRAEREERE, S|..ES RS RE R iHFALEiHF TR
R Surface of rod body zinc plated, housing of SI..ES with a / ‘
lubricating hole or grease nipple
> ' s ‘ - P y
& R~fmm i ‘il N R .
=5 (Dimensions) Load ratings | 9
Bt Narbsr , — Weight LINEAR GUIDEWA |
d da B |G | b ‘ dz ‘ Lz | h ‘ L2 | dc | Ris| 2 | ghdyn.c | fstat.co ,
GAR6DO* | 6 M6x 1.0 6 44 | 18 21 11 | 36 465 10 | 03 13 340 | 8.5 17 s
' GAR8BDO* | 8 M8x 1.25 & 6 22 24 14 42 54 13 | 08 15 550 | 129 29 ®
| GAR10DO" 10 M10x1.5 9 7 26 20 15 48 625 16 03 12 815 | 176 51
GAR 12 DO* | 12 M12x1.75 10 | 8 |28 | 34 | 17 | 54 71 | 18 | 0.3 | 11 10.8 | 24 5 86
GAR 15 DO 15 M14x2.0 12 10 | 34 40 20 63 8 22 03 8 17.0 | 36.0 140
GAR17DO | 17 M16x2.0 14 11 | 36 46 23 | 69 92 | 25 03 10 212 | 450 190
GAR20DO | 20 M20x 1.5 16 13 | 43 53 27 | 78 1045 29 | 06 9 30.0 | 60.0 310 BEARI NGS
GAR 25 DO | 25 M24 x 2.0 20 17 | 53 64 32 | 94 126 |35.5_ 06 7 48.0 | 83.0 560
GAR 30 DO 30 M30x2.0 22 19 | 65 73 37 | 110 1465 40.7 06 6 62.0 110 890
GAR35DO | 35 M36 x 3.0 25 21 | 82 82 41 140 181 | 47 06 6 80.0 | 146 1400
GAR 40 DO 40 M39 x 3.0 28 23 | B6 92 46 | 150 196 @ 53 | 0.6 7 100 180 1800
GAR45DO | 45 M42x 3.0 32 | 27 | 94 |102 | 51 | 163 | 214 | 60 | 06 | 7 127 | 240 2600
GAR 50 DO 50 M45 x 3.0 35 | 30 ‘107 112 56 | 185 241 66 | 0.6 6 156 290 3400
GARBODO | 60 M52x 3.0 44 | 38 | 115 | 135 68 | 210 277.5| 80 | 1.0 6 245 | 450 5900
| GAR70DO 70 M56 x 4.0 49 42 | 125 160 80 | 235 315 92 | 1.0 6 315 610 8200
GARBOODO | 80 M64 x 4.0 55 47 140 180 90 | 270 360 | 105 1.0 6 400 | 750 12000
&3 N

-EREEEL, BRESEmM “L” , #i0: GAR 30 00,

—For left-hand thread,please add surffix “L” ,e.g.GAR 30 QO.
~RFL2d= 15 B AHIE2RSEH, FIi0: GAR 25 00 2RS,

—For bearings d=15 ,8I..ES 2RS also available,e.g.GAR 25 OO 2RS.
—H AL S AREH LS AR

-Lubricating hole or grease nipple isn’ t available for the sizes marked

\
39

[




http

://www.nsarbearin

s.com

NEVER STOP ALWAYS RUN

HGRFIZ M HGH-CA/HGH-HA

: kR WA ; : lo-fz emtc hates Moment elgl
me ,D'““’;‘;“;":l:) Dimensions of Black | mm ) Dimansians of Rall { mm ) Iu:::mg D{"o:‘:"’ SL':;'; (B s e
M el = ] E SR =) S - Rail | Rating = Rating | Block Rail
H |Hi N W B Bl Cc|L|L Ki|ke G| Md | T Hz H3 WR/HR D h | d|P | E | (mm) | CkN) Copn KN | KN-m KN-m kg | kg/m
HGH15CA 28 43 95 34 26 4 26|394 614 10 485 53 Mix5 | 6 795 77 15|15 75 53|45 60 20 | M4x16 | 11.38 | 1687 042 010 010 018 145
HGH20CA 36 | 505 | 775 1225 1775 | 2776 027 | 020 020 030
30 46 12 4 32 6 6 12 M5xG | 8 6 6 20(175 /95 85| 6 60 20 | M5x16 221
HGH20HA 50 | 65.2 (922 126 2118 | 3580 | 035 | 035 035 039
HGH25CA 35| 58 | 84 157 2648 | 3649 042 033 033 051
—— 40 55125 48 35 65 6 12 Méx8 | 8 (10 9 23|22 11 9 |7 60 20 | M6x20 an
HGH25HA 50 | 78.6 |104.6 185 3275 4944 056 057 057 069
HGH30CA 40| 70 (974 2025 3874 5219 | 066 | 053 053 088
: - 45 6 16 60 40 10 - -6 |12 M8x10 |85 95 138 28|26 14 12| 9 B0 | 20 | M8x25 . . - 4.47
HGHA0HA 60| 93 |1204 21.75 4227 | 6916 088 092 092 116
HGH35CA 50 | BO (1124 206 4952 6916 116 081 081 145
- .55 75 18 70 50 10 L7 12 Mexi2 (102 16 196 34 20 14 12| 9 80 20 | M8x25 ! I { 1630
HGH35HA 72 1058|1382 225 8021 | 9163 154 140 140 182
HGH45CA 60| 97 (1334 23 7757 10271 198 | 155 155 273
. 70 95 205 8 60 13 .~ 10 129 M10x17| 16 185 305 45|38 20 17 | 14 105 225|Mi2x35 I ! { 10.41
HGH45HA 80 128.8|171.2 28.9 9454 13646 263 268 268 3.61
HGHS55CA 75 | 117.7|166.7 27.35 114.44 14833 369 264 264 | 417
80 13 235 100 75 125 11120 Mi2x18/175 22 29 53| 44 23 20| 16 120 30 | Mi4x45 15.08
HGH55HA 95 1558|2048 36.4 139,35 | 19620 488 457 457 549
HGHB5CA 70 1442 (2002 43.1 16363 21533 665 | 427 427 | 7.00
— 90 15 315 126 76 | 25 14 129 M16x20| 25 15 15 B3 | 53 | 26 22 | 18 150 35 |Mi6x50 2118
HGHB5HA 120 2036|2596 47.8 20836 303.13 938 738 738 982
Note: 1kgf=9.81N
4 K N . X
5| i 3] ! 7 3
HGZR &M B4 ¢ |1 HGW-CC/HGW-HC 8] Q
L hiil f il
HGH-CA/HGH-HA & .
£ — i £l[E @
e @ £
- # 1
D o
AeMul
V L %
- - L] oy
) R v o] ‘
2" ,T:H %?1. = Y. E
EL\L> ‘ Bl
. 7 .
i ) =
\_ G )
iy ROmE | wak [waE|  seens T
Dimensions ARt BER ﬁn“?’: DB“Iclc ;’:ﬁt | Static Rated Moment Waight
e of Assembly Dimensions of Black { mm ) Dimensions of Rail { mm ) Boltforg m Load | wr | wp My | | e
Lbo. !.mm | . . : — IS S Rail | Rating | Rating Block  Rail
Wi N w|B(Bi/c| L1 | L K k& G M T T T2|He|Hs WR HR|D|h|d|[P|E (mm) | cmy |copay N-m|km N-m kg | kgim
HGW15CC |24 43|16 47 |38 |45 30 394 614 8 485 53 M5 6 89 69539537 15 15 |7.5/53 45|60 MéxXi6 | 1138 | 1697 012 | 010 | 0.10 | 0.17 145
HGW 20CC 505 775 10.25 17.75 |27.76 027 | 020 | 0.20 040
30 45215 63 (53 |5 40 6 12 M6 8 10 95|6 |6 20 175(9585 6 M5X16 2.21
HGW 20HC 65.2 | 922 (176 21.18 (3580 035 | 035 | 0.35 052
HGW 25CC 56 84 107 2648 | 3649 042 | 033 | 033 059
36 55 235 70 |57 65 45 6 12 M8 8 14 10 |6 |5 23 22(11|9 7 80 20 M6X20 321
HGW 23HC 786 1046 21 3275 |49.44 056 | 057 | 057 | 0.80
HGW 30CC 70 974 1425 3874 5219 066 | 053 | 053 109 |
42 |6 |31 90 |72 |9 52| 6 12 M10 85 16 10 (65 |108 28 26 (14 (12 9 |80 20  MBX25 I 447
HGW 30HC 93 1204 25.75 4727 |69.16 088 | 092 | 082 | 1.44
HGW 35CC 80 1124 148 4952 |69.16 1.16 | 0.81 | 081 | 156
48 75|33 100 82 |9 62 7 12 MI0104 18 13 |9 |[126 34 29 (14 (12 9 |80 20 MeX2s 6.30
HGW 334G 105.8 1382 27.5 6021 | 9163 154 | 140 | 140 | 2.06
HGW 45CC 97 1394 13 _ 7757 10271 198 | 155 | 155 279
60 9.5 375 120 [100 10 80 10 129 M12 151 22 15 |85 205 45 38 |20 17 14 105 225 Mi2X35 10.41
HGW 453G 1288 1712 289 9454 13646 263 | 268 | 268 369
HGW 55CC 117.7 1667 17.35 11444 (14833 369 | 264 | 264 452
70 13 435 140 116 [12 95 11 129 M14 175265 17 |12 |19 53 44 |23 20 16 [120 30  M14X45 { 15.08
HGW 53HC 155.8 204.8 36.4 139.35 [196.20 4.88 | 457 | 457 | 596
HGW 85CC 1442 2002 231 16363 (21533 6.65 | 427 | 427 917 |
90 |16 (535 170 142 |14 110 14 129 M16 25 37.5 23 (15 |15 53 |26 |22 18 150 |35  M16X50 21.18
HGW 68HC 2036 259.6 52.8 208.36 |303.13 9.38 | 7.38 | 7.38 |12.89

Note: 1kgf=9.81N

sl

NEVER STOP ALWAYS RUN

MGN/MGWZR 51 £k M4 i85
MGN-C/MGN-H

MGN5
2-Mx17

i

Vi

T _i
u:#’__ Lyl

MGN7, MGN9, MGN12
W

w2y

htt

://www.nsarbearing

Lyl

E
- - -
Mg M
e e — T,
;,: 2, L# LS}
i S [| EL’ i
Ty 28 ¥ k=
2 9113 FFNTIE BE
SRt gg;ﬁ ot ‘zﬁf Static Rated Moment Weight
Dimensions of AR MRS Mounting Basic Static
e Rescimtiy L) Dimensions of Black { mm ) Dimensions of Rail ( mm ) Boltfor  DYmamic | o4
Model No. ik Load | oo MR | MP | MY Rtk
Rating ng Block  Rail
T T T kN-m | kN-m kN-m kg kg/m
H |H N W B | B © LI | L| G G M H|WR HR D h d| P | E  (mm) CkN COKN)
MGN 5C 6 1.5 | 35 |12 | 8|2 | - | 96|16 - 0.8 M2X1.5 1 5 36 36 08 24 15| 5 M2X6 054 084 2 1.3 | 1.3 0008 015
MGN 7C 8 135 | 225 0.98 1.24 470 | 284 284 0010
8 1.5 5 17 | 12 | 25 - |12 M2X25 15| 7 48 42 23 24 15| 5 | M2X6 0.22
MGN 7H 13 218 | 308 137 196 | 766 4.80 | 480 0015
MGN 8C 10 18.9 | 288 1.86 255 |11.76  7.35 | 7.35 0.016
10 2 5.5 20 16 | 25 | T - @14 M3X3 1.8 9 8.5 B 35 35| 20 | 75 M3X8 T T 0.38
MGN 9H 16 299 | 399 255 402 | 1960 1862 1862 0.026
MGN 12C 15 | 21.7 | 347 2584 392 | 2548 1372 1372 0.034
13 3 75 | 27 | 20 | 85 t + - $2 M3X35 25| 12 8 6 45 35 25|10 | M3x8 + + - 0865
MGN 12H 20 | 324 | 454 3.72 5.88 | 38.22 | 36.26 | 36.26 0.054
MGN 15C 20 267 | 424 461 550 | 4508 2156 2156 0059
16 4 85 | 32 25|35 45 | M3 M3X4 3 |15 10 B 45 35 40 | 15 M3X10 1.06
MGN 15H 25 434 | 588 637 911 | 7350 57.82 57.82 0.092

Note: 1kgf=9.81N

ot



ﬁ_aﬂ'gm : 0 ://! A ings.
— @ @_ http://www.nsarbearings.com NEVER STOP ALWAYS RUN

MGW-C/MGW-H R 51 & M i85

MGWS5C
w - L -
B B — E;n I_ Li _I
2-Mx! I
. ! #D_
Fat Pl
PInl owe
L
MGW5CL G " Ly

NEEDLE ROLLER BEARINGS

NSAR’

BEARINGS

9118 BiFRHE =R
R z&g_ﬁr ot g.fs]" Static Rated Moment Weight
Dimensions of RS AR Mounting | B25€ | gl ' [ )
ETE=S ’ Dimensions of Black ( mm ) Dimensions of Rail [ mm ) Y pynamic
Assembly { mm ) Bolt for Load MR MP | MY | R | B
Modial No., Rail Load Ratin
a Rating 9 Block | Rail
1 — T i T T T T T i T T T CKM-m  kN-m  kN-m | kg | kgim
H H1 N W B | B1 c L1 L G Gn Mxi H2 | WR Wa | HR D h d P E {mm ) C(kN) | CO(kN)
MGW 5C 132 - M2.5X1.5
6.5 16 | 35 | 17 — 1141 205 - @08 M- 1 10 - 4 55 16| 3 | 20 5 M2.5X7 0.88 1.18 55 27 27 |0.018 | 0.34
MGW 5CL - a5 | - . 65 ' | | THRU | - | - | - - | -
MGW 7C 10 21 312 1.37 206 1570 714 | 7.4 | 0.020
9 |19 |55 |25 19| 3 - |®12| M3X3 (185 14 - 52| & 32 35|30 10 | M3Xe 051
MGW 7H 19 308 | 41 177 | 314 2345 1553 1553 | 0.029
MGW 9C 21 | 45 12 275 393 275 | 412 4012 1896 18.96 | 0.040
12 28 & 30 - T T - @12] M3X3 24 | 18 - 7 & 45 35| 30 10 M3X8 T 1 T 0.91
MGW gH 23 | 35 24 385 507 343 589 5454 3400 34.00  0.057
MGW 12C 15 | 31.3 | 464 392 | 559 7034 27.80 27.80 | 0.071
14 | 34| 8 (40 28| 6 | + - @12 M3X36 28| 24 - 85| 8 45 45|40 15 | M4X8 ~ + + 1.49
MGW 12H 28 456 604 510 | 824 10270 57.37 &7.37 | 0.103
MGW 15C 20 38 548 B.77 922 199.34 5666 56.66 0143
16 | 34 | 9 60 45|75 52 | M3 | M4X42 32 | 42 23 95| 8 | 45 45|40 15 | M4X10 2.36
MGW 15H 35 | 57 738 893 | 13.38 209.01 12260 122.60  0.215

Note: 1kgf=9.81N

— e [ Wk —



http://www.nsarbearings.com http://www.nsarbearings.com

R5T4mi& Needle Roller Bearings

NSARESH A2 H!
NSAR Needle Roller Bearing Types:
1. SRR E SNBSS

Sealing-Type Drawn Cup Needle Roller Bearings
2, RAER R

FTEAE R & (FH) BR
Needle Roller Bearings Without Inner Ring (Innch Series) BR

Needle Roller Bearings With Inner Ring . . ) R R MER "
3. FRAEE R BT R RRE R : . e SMERT Boundary Dimensions © Load Rating | TRIRIEIE
. i ) _ . . 3 12 Shaft i K Bl 2 Standard Basic Load Rating e
Needle Roller Bearings Without Inner Ring/ Needle Roller Bearings Outer Ring - X . ; Limiting
Without Inner Ring or Cage shE -~ et Diameter Bearing E D DB 2l B Speed
4. BRBEMTREREHRI K Designation w &= Dimensions  Dynamic Cr  Static Cor
Full Completment Needle Roller Bearings With Cage/ Without Cage i I dh R(2) i N r
5. NSART A {# R & MR My EH iR - Inch Series:SCE+~ BCE. SCH. BCH. SN. B. BH. M. MH; P
The Other Types of NSAR Needle Roller Bearings BA..Z. BHA..Z. BAM. BHAM. YB. YBH. Such As: Designantion 15.875 BR101812 15.875 28.575 19.05 245 1930 2010 25000
1)« REHRRERAL _ HIXX YY Inscribed Circle Diameter XX Height YY 19.05 BR122012  19.05 31.75 19.05 265 1 2220 2490 20000
;’f“;;;g;ﬁ;?;“semb"es RS——R— M EH B AR S 19.05 BR122016  19.05 31.75 25.4 265 1 2810 3380 20000
¥ 5 RS-—--- Metric Series, Single Seal
Needie Roller Bearings Without Ribs Il o oy i 22.225 BR142212 22.225 34.925 19.05 29.7 | 1 2340 2770 18000
3. gﬁru ‘ 2RS-—Metric Series, Double Seals 22.225 BR142216 22.225 34.925 25.4 29.7 1 2970 3760 18000
f{’“eﬁ"cﬂ%m%;*g'” Baarings P — N E R X RS 25.4 BR162412 25.4 38.1 19.05 329 | 1 2580 3250 16000
Combined Needle/Ball Bearings P--——Inch Series, Single Seals 25.4 BR162416  25.4 38.1 25.4 329 1 3280 4420 16000
5) . (A4S HTREE PP— Sy MEHE AR AL 28.575 BR182616  28.575 41.275 25.4 36 1 3560 5090 14000
Combined Needle/Thrust Ball Beari PP---—-Inch Series, Double Seals
ombined Needie/ Thrust ball bearings A 28.575 BR182620 28.575 41.275 31.75 36 1 4410 6690 14000
6) « 1AL FEHEAERTIE & ASI/OH--J7ihFLHK, BA. TA.
Combined Needle/Cylindrical Roller Thrust Bearings ASI’OH“'_OH H°I- HK. BA. TA 31.75 BR202816 .75 44.45 25.4 89.2 1 9670 5450 13000
T Z--ZF LB R E S E R SR 31.75 BR202820 31.75 44.45 31.75 39.2 1 4550 7180 13000
* : Z-Fiarforated. Type: Rraw Cup Needle:Rolior B earings 34.925 BR223016  34.925 47.625 25.4 424 1 3930 6120 11000
Supporting Roller Types BK. TAM, TLAM--33 (150 EShBREHA ' : : ' '
T, SR BK. TAM. TLAM-—Sealing Type Drawn Cup Needle Roller Bearings 34.925 BR223020 34.925 47.625 31.75 424 1 4870 8060 11000
RNA22. 2RSUEZE, THERZERE F--Perforated T?]/Pe Dl’aljl Cup Completme:nt Nizedle Roller Bearings 38.1 . BR243320 38.1 52.388 31.75 45.1 1.5 5530 . 8980 11000
RNAZ22...2RS Supporting Rollers, Double-sealing, Without Inner Ring FY\ YT-5FFL B S B SeR o k(G B PRALL) 41.275 BR263516 41.275 55.562 25.4 48.3 1.5 4570 7230 9500
NA22. 2RSWEZY, ARESEED FY. YT--Perforated Type Drawn Cup Completment Needle Roller I |
NA22. 9RS Supporting Roller. Double-sealina. With Inner Rin Bearings (Grease Limits) 41.275 BR263520 41.275 55.562 31.75 48.3 1.5 5670 9530 9500
NATR. NATR. PP S E R . FH, YTL-ZAZAREERRRHR(ER) 44.45 BR283716  44.45 58.738 254 515 15 4850 7980 9000
kL ] ) = ) FY. YTL--Perforated Type Drawn Cup Completment Needle Roller |
NATR. NATR...PP Flat Collar Axial Guidance Supporting Rollers Bearings (Heavy Series) 44.45 BR283720 44.45 58.738 31.75 51.5 1.5 6010 . 10500 9000
:ﬂ& :ﬁx--gﬁifﬁﬁiiiﬁiﬁ; Séﬁui%rt-n Colore MF--33 01 B2 eh FE 50 B 6 48 St iR 44.45 BR283820 44.45 60.325 31.75 53.1 1.5 6010 10500 9000
% i ; i H i | |
Compilétmont Nuadle Tyos . mEH__;eg;g;;g;h;‘;’;gﬁ;;"p'etme"‘ bl Roloctaimgs 47625  BR303920  47.625 61912 3175 547 15 6130 11000 8500
NUTRIBEENFSI S RFRE, #HRTR _ : ; 50.8 BR324116 50.8 65.088 25.4 57.8 1.5 5200 9110 8000
NUTR Rolling-Element Guide Supporting Roller, Completment Roller Type Mir=geaing Type Drawn Glp. Compicimenteedie Rpller Bearings I 1
g s é sl ﬂ;?;’ dhs P SCE-ZARMESERSHHE 50.8 BR324120 50.8 65.088 31.75 57.8 1.5 6440 12000 8000
CRY Inch Series Flat Collar Axial Guidance Supporting Rollers Sgézg;gﬁt:;digﬁngg; imNiecdlelialler Bearings 57.15 | BR364824 57.15 76.2 38.1 69 1.5 9200 I 16100 7000
el 4y 2 BCE--Sealing Type Drawn Cup Needle Roller Bearings 57.15 . BR364828 57.15 76.2 44.45 69 1.5 10700 19500 7000
The Classification of Needle Roller Bearings SCH--Z2 7| AL FE 4 B2 7% 63.5 BR405224 63.5 82.55 38.1 743 | 2 9640 17700 6500
o 4 ; ; SCH-Perforated Type Drawn Cup Needle Roller Bearings 63.5 BR405228 63.5 82.55 44.45 743 2 11200 21400 6500
1.|'5]a|_,~,ﬁ$1‘$ﬂ{‘%ﬁ§€.ﬂ1¢ Ralial Needle Roller and Cage A.ssemblles BCH--&1 [ AL FE 4h BB S o & 59.85 BRA45624 69,85 85.9 281 80,7 ) 10100 19300 5500
2.NA, NKIER$HHAR NA, NKI Type Needle Roller Bearings BCH--Sealing Type Drawn Cup Needle Roller Bearings : : - : :
3.RNA, NKEZHEZR$#AE RNA, NK Type Needle Roller Bearings SN--ER7L BU 3 E Sh Bl L T4+ Sk 69.85 BR445628 69.85 88.9 44.45 80.7 2 11700 23300 5500
Without Inner Ring SN—Perforated T R
: ! , - ype Drawn Cup Completment Needle Roller Bearings 76.2 BR486024 76.2 95.25 38.1 87 2 10700 21600 5500
4 AKESREESHERET 7% HK Type Drawn Cup Needle Roller Bearings gy st ik 76.2 BR486028  76.2 95.25 44.45 87 2 12400 26100 5500
5.BK§£E$’I‘F&‘%I‘%% BK Type Drawn Cup Needle Roller Bearings B-Perforated Type Drawn Cup Completment Needle Roller Bearings
RS Type Letter Code: BH-- 27 30 [ SME# 2E T t Bik (B & 51) 82.55 BR526828 82.55 107.95 44.45 99.7 2 14400 26400 5000
%ﬂ%iﬂa 3?- \F("I'LFH‘ FY. MF. MFH. MFY; TA.Z. TLA.Z. (BI_Il-i--Peréore}tec)! Type Drawn Cup Completment Needle Roller Bearings 82.55 BR526832 82.55 107.95 50.8 99.7 2 15700 29500 5000
. v YT, . eavy Series
Mol Seresitiit, Bl Fa Bl VS TWEL ViFi, HiEs g i A 88.9 BR567232 88.9 114.3 50.8 106.1 2 16500 32100 4500
TA.Z- TLA.Z. TAM. TLAM. YT. YTL. M-—Sea'mg Type Drawn Cup Completment Needle Roller Bearings 95.25 BR607632 95.25 120.65 50.8 111.4 ‘ 2.5 17200 34900 4000
| #R%).SCE. BCE. SCH, BCH. SN, B. BH. M, MH, ; BA..Z. MH--3 O B b B i R EH R (B RTY) 101.6 BR648032 101.6 127 50.8 117.8 2.5 18000 37500 4000

BHA...Z, BAM, BHAM, YB, YBH. fil: HK XX YY&E H{IEEEXX

=EYY
H5

MH--Sealing Type Drawn Cup Completment Needle Roller Bearings
(Heavy Series)



http://www.nsarbearings.com

AR A (3F])D BRI

Needle Roller Bearings Without
Inner Ring (Innch Series) BRI

3 12 Shaft
Diameter

47

mm
9.525
12.7
12.7
15.875
16.875
19.05
19.06
22.225
22.225
25.4
25.4
28.575
28.575
31.75
31.75
34.925
34.925
38.1
38.1
38.1
38.1
50.8
50.8
57.15
57.15
63.5
63.5
69.85
69.85
76.2
82.55
88.9

AR S
Bearing
Designation

BRI 61812

BRI 82012

BRI 82016

BRI 102212
BRI 102216
BRI 122412
BRI 122416
BRI 142616
BRI 142620
BRI 142620
BRI 162816

BRI 162820

BRI 183020
BRI 203316
BRI 203320

BRI 223516

BRI 223520

BRI 243716

BRI 243720
BRI 243820
BRI 243920
BRI 264116
BRI 264120
BRI 365624
BRI 365628
BRI 406024

BRI 406028

BRI 446828

BRI 446832

BRI 487232

BRI 527632

BRI 568032

Fw

15.875
19.05
19.05
22.225
22.225
25.4
25.4
28.575
28.575
31.75
31.75
34.925
34.925
38.1
38.1
41.275
41.275
44.45
44.45
44.45
47.625
50.8
50.8
69.85
69.85
76.2
76.2
82.55
82.55
88.9
95.25

—

|
n"u . —t &
=
42 R <t Boundary Dimensions
D C
inch/mm
28.575 19.05
31.75 19.05
31.75 254
34.925 19.05
34.925 25.4
38.1 19.05
38.1 25.4
41.275 25.4
41.275 31.75
44 45 25.4
44 .45 31.75
47.625 25.4
47.625 31.75
52.388 25.4
52.388 31.75
55.562 25.4
55.562 31.75
58.738 25.4
58.738 31.75
60.325 31.75
31.912 31.75
65.088 25.4
65.088 31.75
88.9 38.1
88.9 44 .45
95.25 38.1
95.25 44 45
107.95 44 .45
107.95 50.8
114.3 50.8
120.65 50.8
127 50.8

101.6

Fr o % B

Rt

Standard

Mounting

Dimensions

dh
24.5
26.5
26.5
29.7
29.7
32.9
32.9
36
36
39.2
39.2
42.4
42.4
45.1
45.1
48.3
48.3
51.5
51.5
53.1
54.7
57.8
57.8
80.7
80.7
87
87
99.7
99.7
106.1
111.4
111.4

R(2)
0.6
1

| % R[S Ny (RS Ny [RPERI N JEPSIE. ViRl QRS "R QIS S N W (R S PSS N U SR R X
oo oo o an oo

NN NN R NN

g

&0 5E T far
Basic Load Rating
=) #h
Dynamic Cr | Static Cor
N
1930 2010
2220 2490
2810 3380
2340 2770
2970 3760
2580 3250
3280 4420
3560 5090

4410 6690
3670 5450
4550 7180
3930 6120
4870 8060
4460 6820
5530 8980
4570 7230
5670 9530
4850 7980
6010 10500
6010 10500
6130 11000
5200 9110
6440 12000
10100 19300
11700 23300
10700 21600
12400 26100
14400 26400
15700 29500
16500 32100
17200 34900
18000 37500

R PR #% 33
Limiting
Speed

rem
25000
20000
20000
18000
18000
16000
16000
14000
14000
13000
13000
11000
11000
11000
11000
9500
9500
9000
9000
9000
8500
8000
8000
5500
5500
5500
5500
5000
5000
4500
4000
4000

MESNE R EH A HK
Drawn Cup Needle Roller Bearings HK

ihiEShaft
Diameter

3
=)

© O YW VYW oOWOWOoOOWwSNNSN~NDOODOTDO O AW

AR S

Bearing Designation

mME S
Current Code

" HKD306TN

HK0408TN
HKO509TN
HKO0509
HKO0607

~ HK0608

HK0609
HKO0611
HKO06X12X8
HKO0708
HKO0709
HKO07X12X08
HKO07X12X09
HK0808
HKO0810
HKO0812

. HK08X14X10

HK08X14X12

~ HK0908

HK0910
HK0911
HK0912
HK09X15X10
HK10X13X08

 HK1010

HK1012
HK1015
HK10X15X15
HK10X16X10
HK10X16X12

 HK10X16X15

HK10X17X15
HK10X18X12
HK1208
HK1210
HK1212

FES
Original Code

37941/4

47941/5
27941/6
37941/6
47941/6

Jun-41

47941/9

37941/8
57941/8
67941/8
27942/8
37942/8
37941/9
57941/9

67941/9
27942/9

57941/10
67941/10

644900

DB1012

Oct-42

37941/12
57941/12
67941/12

Fi
Weight

1.6

1.8
2.1
2.2
2.3
2.5

23
2.2
2.4
2.7

5.35
6.6

4.1
4.6
5.6
3.5
4.1
4.8

6.5
6.5
7.5
11
11.5
8.5
3.3
4.6
5.6

Fw

O O © W oo 0NN SN~NODOOOODOOOO O W

e e I N S S = (e )
o000 0|00

10
10
10
12
12
12

http://www.nsarbearings.com

MR~
Boundary Dimensions

D

mm
6.5
8
9
9
10
10
10
10
12
11
11
12
12
12
12
12
14
14
13
13
13
13
15
13
14
14
14
15
16
16
16
17
18
16
16
16

C

© O o o = O 0 ~N O O o

JEEE N SN o« PSS Ny S W U U RS W P G AR P PSS W o S S G PR W P G N o R S S N e = Sl o - )
N O MO OO O N O O N = 0O N O N O

EE fafer
Basic Load Rating
=] ¢
Dynamic Cr Static Cor
1320 950
1540 1070
2200 1790
2200 1790
1600 1400
1830 1550
2650 2400
1700 1500
2230 2010
2800 2150
2800 2150
3300 3220
3400 3150
2550 2400
3700 3450
3800 3950
4100 4320
3650 4050
4050 4250
4300 4700
5000 6000
5300 6300
4100 4800
3900 4800
5000 6300
6700 7800
6800 8800
6800 8800
6800 8800
6800 8800
7200 8000
7200 8000
7200 8000
4150 5800
3800 5100

L.S.

JHEE

Qil
pm

' 6000

40000
36000
36000
30000
32000
30000
29000
33000
27000

27000
37000
37000
21000

21000

25000

25000
25000
25000

25000
25000
25000
20000
19000
19000
19000
18000
18000
18000

' 19000
19000
19000

19000
19000
15000

FRPRFEIE

4E



; KA S
iz Bearing Designation
Shaft
Diameter IpE= Eae
i Current Code Original Code |
12 HK12X17X12 Dec-41
12 HK12X17X15 Dec-42
12 HK12X17X18 Dec43
12 HK12X18X12 37942/12
12 HK12X18X14 67942/12
12 HK12X19X12
13 HK1311 HKI311
13 HK1312 HKI312
13.5 HK13.5X19X12
13.5 HK13.5X20X12 7941/13.5
14 HK1410 27941/14
14 HK1412 37941/14
14 HK1416 57941/14
14 HK1418
15 HK15X20X12 7941/15
15 HK15X20X16 7942/15
15 HK15X20X20 7943/15
15 HK1512 37941/15
15 HK1514 47941/15
15 HK1515
15 HK1516 57941/15
15 HK1522 SZ-439
15 HK15X22X12 7948/15
15 HK15X22X12.5 7948/15K
16 HK16X21X06
16 HK16X21X09
16 HK1612 37941/16
16 HK1614 47941/16
16 HK1616 57941/16
16 HK1617 SZ-435
16 HK1622 87941/16
17 HK17X21.5X15 17BTMI5
17 HK1712 37941/17
17 HK1714 7941/17
17 HK1716 57941/17
17 HK1718 7942/17
17 HK1720
17 HK1722 7943/17
17 HK17X24X15
17 HK17X25X14 37942/17K
17 HK17X25X15.5
17 HK17X25X18 57942/17K
18 HK1812 37941/18
18 HK1816 57941/18
19 HK19X27X16 TA1916
20 HK2010 27941/20
20 HK2011

Hg

\_ http://www.nsarbearings.com
-

=i

Weight

g
75
9.5
11
9.1
10.6
10
8.5
8.9

10.8
8.3

10.5
13.9

8.4
11.4
13.8
11.1
12.7
14.2
15
20.4
12.5
13.5
5.5
7.5
11.7
14.4
15.8
18
21.7
10
12.2
14
15.9
19

17
17
177
20
23.5
13.1
17.5
23
11.8
12

Sz R~
Fw D
mm
12 17
12 17
12 17
12 18
12 18
12 19
13 19
13 19
13.5 19
13.5 20
14 20
14 20
14 20
14 20
15 20
15 20
15 20
15 21
15 21
15 21
15 21
15 21
15 22
15 22
16 21
16 21
16 22
16 22
16 22
16 22
16 22
17 21.5
17 23
17 23
17 23
17 23
17 23
17 23
17 24
17 25
17 25
17 25
18 24
18 24
19 27
20 26
20 26

Boundary Dimensions

c

12
15
18
12
14
12
11
12
12
12
10
12
16
18
12
16
20
12
14
15
16
22
12
12.5
6
9
12
14
16
17
22
15
12
14
16
18
20
22
15
14
15.5
18
12
16
16
10
11

BN E fATer
Basic Load Rating
= 7
Dynamic Cr Static Cor
5100 7000
5100 7000
5100 7000
5500 6300
6500 6300
6800 7400
6300 6300
6200 7100
6200 7100
6250 7590
6700 7000
6800 7500
7300 9000
7300 9000
5800 6000
6000 6200
6100 6400
7000 8400
8500 10400
9100 11400
9800 11400
10400 16500
14300 18400
14300 18400
4200 5300
4400 5600
7100 9200
8800 9900
10100 14300
12900 17200
11100 17400
6300 8600
6900 9300
6800 10200
8500 12500
9500 10600
10000 11800
11200 12800
13100 14700
9320 10400
9500 10600
7100 9900
10600 15300
8100 9500
5900 7200
7500 9200

R PREER
Speed
A
Qil
rem

15000
15000

15000
17000

15000

15000
14000
17000

16000

16000

16000

16000
14000
14000

14000

14000
14000

114000
13000

13000
14000

14000

13000
13000
12000

12000

14000

12000

14000
12000
14000

11000

13000
10000

10000
10000

10000

10000

10000
10000

11000
12000

12000
10500

10000

9000

BhZ R HA (FEH) CR
Curve Roller Bearings ( Inch Series) CR
3
!!Iﬁ‘
-

:
NN

¢

i 2 Shant HAELS

a2

| 2381

2.381
3175

| 3175

3.175

Bt Deﬂse’;‘r;r:% . 4p #! R < Boundary Dimensions(mm)
E 452
mm Cylinder d1 D Cc B B1 g1
Diameter
4826  CRS8 4826 12700 8731 9525 22225 3475
4826  CR81 | 4826 12700 9525 10319 26194 31475 |
6.350 CR10 | 635 15875 10319 11112 26988 3175 |
6350  CR10-1 | 635 15875 11112 11906 30956 3.175
9525  CR12 | 9525 1905 12700 13494 35719 4762
9,525 CR14 9525 22225 12700 13494 35719 4762
M412  CR16 | 11112 254 15875 16669 42063 4762
Mi12  CR18 | 11412 28575 15875 16660 42063 4762
12700  CR20 127 | 3175 19050 19844 51594 4762
12700  CR22 | 127 34925 10050 19844 51504 4762

15.875 CR24 | 15875 38.1 22225 | 23019 61119 4762
15.875 CR 26 15.876 41275 22225 23019 61119 4762
19.050 CR28 . 19.050 @ 4445 25400 @ 26.194 70.644 4762
19.050 CR30 I 19.050 . 47626 25400 26.194 70644 4762
22.225 CR32 22.225 50.8 31.75 32,554 83.344 4762
22.225 CR 36 . 22225 57150 31.750 @ 32.544 83344 4762

HHGRE, BHESISNATR NATR...PP

Yoke Type Track Rollers, With Axial Guiding
NATR NATR...PP

3.175

| 3969

3.969

| 2969

3.969

4.762

4.762

kB S ShFE R <t

Hh 1R Bearing Designation Boundary Dimensions
Shaft

Diameter Fc A E HHEE d D B c di

Without With Inner
Inner Ring Ring

mm mm
16 | NATR5 | NATRS5PP | 5 | 16 | 12 11 12
19 NATR 6 NATR 6 PP 6 | 19 | 12 | 11 | 14
24 | NATRS NATRBPP | 8 24 | 15 14 19
30  NATR10 | NATRIOPP | 10 30 | 15 14 23
32 NATR12 | NATR12PP | 12 32 | 15 14 25
35  NATR15 | NATRIS5PP | 15 35 | 19 18 27
40 | NATR17 | NATR17PP | 17 40 | 21 20 32
47 NATR20 | NATR20PP = 20 47 | 25 24 37
52 | NATR25 | NATR25PP | 25 @ 52 | 25 24 42
62  NATR30 | NATR30PP 30 62 | 29 28 51
72 NATR35 | NATR35PP | 35 72 | 29 28 58
80  NATR40  NATR40PP | 40 80 | 32 30 66
85 NATR45 | NATR45PP 45 85 | 32 30 72
90 NATR50 | NATR50PP 50 90 | 32 30 76

http://www.nsarbearings.com 67 o\
| S AR

R=500
ﬁg&ﬁ“g Rj:f”ﬁ Ba%f Lsfj iﬁig 2%%9)2
Dimensions  Tightening Speed
G1 B3 r mm kgf.m Cr Cor pm
6350 - 0307 | 83 0.20 260 220 28000
| 635 -~ | 037 | 834 | o020 | 260 220 | 28000
| 7088 - | 0307 | 11500 | 030 | 370 370 | 21000
| 7938 -~ | 0397 | 11509 030 370 0 | 21000
| 9525 6350 | 0794 | 13484 180 450 520 | 15000
9525 | 6350 | 0794 | 15081 | 1.80 490 590 14000
| 12700 6350 | 1191 | 17.859 200 900 1100 | 13000
| 12700 6350 | 1588 19050 200 940 1180 | 12000
15875 7938 | 1588 | 21.828 290 1450 1630 | 11000
| 15875 7938 | 1588 21828 | 290 1450 1630 11000
| 19050 9525 | 1588 2619 660 1890 2470 | 8500
19050 = 9525 | 1588 | 26196 | 6.60 1890 2470 8500
| 22205 11112 | 1588 | 32543 1200 @ 2560 3900 | 7000
| 22225 | 11112 | 1588 | 32543 | 1200 = 2560 | 3900 | 7000
25400 12700 | 1588 | 37.306 = 19.00 3310 6510 5500
| 25400 12700 | 1588 | 37.306 = 1900 3310 6510 | 5500
B
::Zi:%
g 1
| ‘I i
pl RS0O| | |=5 dq
|
A
E ARG E T
Basic Load Rating MR =
# ERAEZREY Limiting
rs Dyng:mc Sat G As%oic(zType Trac;RCc;H:rs Speed
mm' N rpm
0.15 3800 3750 3150 3300 22000
0.15 4250 4600 3500 3900 20000
0.3 6800 7700 | 5500 6400 15000
06 8100 9700 | 680D 8400 11000
0.6 8700 11000 = 6900 8800 9000
06 12900 19000 | 9700 14100 7000
1 14200 20400 | 10900 15500 6000
1 19500 32000 15500 25500 4900
1 |21200 38000 15400 26500 3600
1 34000 59000 23600 38500 2600
‘ 1.1 37000 69000 25500 44500 2000
| 1.1 49000 94000 33000 59000 1700
‘ 1.1 51000 101000 32500 59000 1500
1.1 52000 108000 32000 59000 1300
50



http://www.nsarbearing:

SORGRECHR, BihE5|SNUTR . B
Yoke Type Track Rollers, With Axial Guiding NUTR 777" ‘ "
D2 g N i
If i i
i} kﬂf - d| 4 |- (d d
1 1
Azl L1
- ,,,/ i
NUTR NUTR...X
e . 4% R <t Boundary Dimensions ;Kﬁt_ﬁfﬁ_?asm Load Rating R 3
Shaft = $h&EAES = B R R RE Limiting
Diameter  Bearing d D B C dl rs ris Dynamic Static Asyoketypetrackrollers | Frperm = For perm  Speed
Designation Cr Cor  zpcw 5% Cow
mm ' mm " min min N rpm
35 NURRTS 15 35 19 18 20 06 03 23000 27000 16000 18300 | 8300 16400 6500
40 | NUTR17 [ 17 40 21 20 22 1 | 03 24800 31000 18500 22800 | 13200 22800 5500
42  NUTR1542 15 42 19 18 20 06 03 23000 27000 19400 23800 23900 = 23900 6500
47  NUTR1747 17 47 21 20 22 1 03 24800 31000 21300 28000 | 28000 | 28000 5500
47 | NUTR20 20 47 25 24 27 1 03 39000 50000 28000 = 35000 16500 33000 4200
52 | NUTR2052 20 52 25 24 27 1 03 39000 50000 31500 41000 | 38500 41000 4200
52 | NUTR25 25 52 25 24 31 1 03 43500 60000 29000 37500 | 17300 34500 | 3400
62 NUTR 25 62 25| 62| 25| 24| 31 | 1 0.3 43500 60000 35500 50000 50000 50000 3400
62 NUTR30 30 62 20 28 38 1 03 59000 79000 40000 51000 | 23600 47000 2600
72 NUTR3072 30 72 29 28 38 1 03 59000 79000 48000 65000 | 65000 65000 2600
72 NUTR35 35 72 20 28 44 11 06 65000 93000 45000 = 61000 | 32000 = 61000 2100
80  NUTR3580 (35 80 29 28 44 11 06 65000 93000 51000 72000 | 72000 72000 2100
80 NUTR 40 40 80 32 30 51 11 06 90000 134000 ‘ 56000 76000 30500 60000 1600

100 NUTR45100 45 100 32 30 55 1.4 06 95000 147000 72000 10800 | 106000 108000 1400

85 NUTR 45 45 85 32 30 55 11 06 95000 147000 56000 79000 ' 31500 61000 1400 :
90 NUTR409 40 90 32 30 51 11 06 90000 134000 66000 96000 | 84000 96000 | 1600 WHEEL HUB BEARINGS A, ==
90 NUTR 50 50 90 32 30 60 11 06 10000 161000 57000 81000 | 32000 63000 1300 . b

110 = NUTR50110 | 50 110 32 30 60 1.1 0.6 10000 161000 = 76000 121000 | 121000 = 121000 1300 |
e ®
— C -—
Yoke Type Track Rollers STO - L
r
ni=an BEARINGS
imaalil| I8 iy
N
1 s
9]\&  ERRE [ %%RT _éoun&'ary'ﬁi_mens_i'bns \_ﬁﬁﬁﬁ Basic Load R_at_ing i mmg@
Outside = Bearings EE T EW [ 5 ~ Limiting
Diameter = Designation Weight d D & ‘ B E E i ‘ Dynamic Cr Static Cor Speed
mm ?Eﬂ*] - g mm min ‘ KN rpm
__ With Inner Ring | | . B . . Il - |
19 STOBTN 17 6 19 | 98 | 10 | 10 | 13 | 03 | 375 4.5 10000
24 STO8TN 26 8 24 98 | 10 12 15 03 4.2 5.5 8000
30  sTO10 49 10 30 118 12 14 20 03 84 9.2 5500
32 STO12 | 57 12 | 22 [ 118 | 12 | 16 | 22 | 03 | 8.9 . 104 4500
35 STO15 E 15 35 118 12 20 26 03 9.1 . 107 3300
40  sTO17 107 17 40 158 | 16 22 | 20 03 143 | 177 2800
47 STO20 | 152 20 47 158 16 25 32 03 162 215 2400
52 STO25 | 177 25 52 158 | 16 30 37 03 165 229 1800
62  STO30 1308 30 62 198 20 38 46 06 233 | 35 1300
72 STO35 441 | 35 72 198 | 20 42 50 06 255 40 1100
80 STO40 | 530 40 80 198 20 50 58 1 35 593 850
85 STO45 576 45 8 198 20 55 63 1 255 43 750
90  STOS50 617 50 9 198 20 60 68 1 436 834 650

51 BE



http://www.nsarbearings.com _

http://www.nsarbearings.com

AN ZEN . T T GO
222 %HA& Wheel Hub Bearings T s
/ N
F—RKEBNT HiEmsmAER, bR EDACHK. RANFINELY, HEKAFRK, #EAFEANERSHEAE. AREREa / f f"‘*’?/\
HIERTE, TFEE. WAANBEEMIRFREBHE, F1K. EREMNSE. ‘.\ 'L | |
The first generation is composed of double row angular contact bearings, namely DAC bearing.To adopt the structure of \\\ \..\ \%}\/{f
double row inner rings,the angle which fills the ball is bigger than others,the auto wheel hub bearings can bear heavier T N Kgsse

axial and radial load.lt is no need to adjust the inner clearance beacuse it is already preserved in making.It was filled with #vEll (scal type ) © Fst (open type) D

lubricating grease in high quality in the inner bearing,which could make the assemblage and usage easily.

i PRI s we AfeRmEE MRS " a= EREE
— Bearing No. Other Brand Model Dimensions(mm) Weight(kg) Use In Automotive
NSAR | BE#HEKOYO | EEFAG d D B | ¢ | _
St HNE DAC205000206 | 156704 320104 20 50 206 206 | 017 |Fiat§EL4F, Seatdi L4F
DAC255200206 25 52 | 206 206 049 |FEUEESR, Seal@¥fs
) ' ' POLEAVENTILADOR 124
DAC25520037 546467/576467 25 52 37 a7 0.31 ;"aﬁfﬁt‘fg‘gi ﬁgt;‘;’"gﬁ
DAC25520040 25 52 40 40 0.35
DAC25520042 25 52 42 42 0.36
DAC25520043 25 52 43 43 | 036 | Renaultlii#, Peugeokid, CtroenZ ik
- " ABSf&I3E DAC25550043 | 25 55 43 43 041 | Renaultfi%
”§J%%%E XEE Zi ! . ] g o DAC255600206/29 25 56 20.6 29 0.28 Fiat3E T 55
\ (DAC) J PhEEIFEFE AET s J ABSfR AR DAC25560032 | | 445079 265 5 3% | 32 | 034 |CroenEHE
DAC25600029/206 | 25 60 29 206 | 033 |FaELs
FoRIINFRELE—MRTISIRBENES, THANSIAELH ERAREEE. FESENERTNES. st e e e T T
DAC28580042 DAC2858W 576447 28 58 42 42 0.47 z? gﬁe; ERIRR, KRZE, #
The second generation bearing has a fixed flange which is used on the bearing outer ring raceway.It can be simple to make bearing ———— DACIBATATRGSAD 28 o1 a2 2 T (T £ M COROLLACTIAR 8 18YET
sleeve on the shaft with a nut to make car maintenance becomes easy. : | Tosgksss, -
DAC29530037 | 801023AB 29 53 37 a7 0.35
FoREBMAETERA THASETMEENRSABSHES. BRETIHTHRAEARZEZIMINEE, AZ2EAIREE ARz DAC30580042 30 58 42 42 0.40
s AN Dy i z : =
L, sE=FE M MERRRE—E. e ACIORE S g«;ggg}\ 529891AB = & o > N %ag’ﬁﬁﬂﬁiiiaiﬁfi Lanciali f T, Seat
The third generation wheel hub bearing unit is adopted the bearing unit and matches the ABS brake system.|t is designed to have the ' | Fiat131-1473E 4%, Ladafii%, Lancialk i
. . . . \ X DAC30600337 DAC3060W 529891AB 545312 581736 30 60.03 37 a7 042 N N
inner flange and the outer flange, the inner is flange fixed on the driven shaft bolts, the outer flange installs the whole bearing | |, Seatfi I+, VolvoikRik
betogether_ DAC30620038 30 62 38 38 0.52 |
DAC30630042 30 63 42 42 0.57 | Toyota®:M, CAMRY-91,CARINALL 83-92,CEL
;EE%’??Iﬁ Notes: DAC30640042 DAC3064W2RKBCS8 30 64 42 42 049 | Toyota¥H
1. HTEAREUREZSHMTEN, BNETRSERZ g 1In order to ensure maximum security and reliability, it is DAC30680045 30 68 45 45 0.73 HrERE20
stz e e = : i e recommended that no matter how long the vehicles age you should DAC32720045 32 72 45 45 0.60 |
R2ERNERRMA—IBWARTRBRNFMAERSS:  ofien check the wheel hub bearing--pay attention to whether the Audii#i, VolkswagenX X, Chryslers3g
DAC34620037 DAC34620037 531910 561447 34 62 a7 37 0.41 ! 9 ¢ AT
A EmEsN N EREIRES S EEEH SR AT A EF A  bearing has worn early warning signal, including any rotating friction : #i%h, POLO/OO
o noise or suspension combination of abnormal wheel in turn. OpelBi =, Vauxhalik E#i& /R, Accord#
i _ - . R T For the rear wheel drive vehicles,suggestions to lubricate the front DRESRAORE Rt BaOsOe ER0S it i i ik HBe HIEE
X R IRAN B R I E I TILEI38000 2 E R ETRE M wheel hub bearing when you drive vehicles to 38000 kilometers. DAC34670037 34 67 a7 37 0.44
AR, YERMNERGN, REMWMAIF TR EE. 2.Because the front wheel working conditions are similar, so even if DAC35620040 35 62 40 40 045 | HibEm
2. ERBHBRS R AN RES N TSN, FUEER ggzrsone bearing is broken, we also recommends replacement in DAC35640037 | DAC3564A-1 . a5 64 a7 a7 041 | HFITI7300, Dahastuk %
BT — ik, BN S, 3.Wheel hub bearing is more sensitive, under any circumstances you DREdfehinse | DACSRAVIESAD || SRR i &2 i = 040 -Re"auuii’ Chryslere SEAT 4,
3, BEHHALRER EETER TREERAERNSEME  need to use the right methods and with the right tools.In the process DAC35660032 DACR566 8% | e | 82 | &2 042 | GiroenS %A
S at by S4E s 70 - skioir of storage and transportation and installation, bearing components DAC35660033 35 66 33 33 043 | FaFET 45, TIPO1.4
ERTR, Eﬁgﬂﬁﬁm}—%hﬁh’Hﬁaﬂnﬂ#xﬁﬂmﬂ“ . e2 cannot be damaged.some larger bearing need more pressure into, DAC35660037 DAC35660037 544307C(D) 581010A 35 66 a7 a7 048 Volksw agenk £, Chryslers 38780,
BREERAWEAEN, FUSELTHATIR. —EEERISZEF soneed a special tool.Be sure to follow car manufacturing instruction. ' POLO, Golf11.VW, SeatArosa
SRR . 4 When installing the bearing,the environment should be clean and DAC35670042 35 67 42 42 0.45
S e e TR ST neat , tiny particles into the bearing will shorten the bearing life of | | FiaSETE45,, Lancial5iETF, Sealff T45,
4. kﬁﬁ?ﬁﬁ:ﬁﬁ]ﬁ&%ﬂ% #i5 ﬁ‘ﬁﬂ—i%* ! 410 E’\]fﬁfmﬁ)\ﬁ&lﬁ bearing.Not allowed to use hammer percussion bearing, pay attention DAC35650037 DACIS68A2RS 5670188 35 68 37 3z 0.52 | Volvoik /R %, Chryslers #H7$), PREMIO
LSRR MNERES. SRIFAMLR SR, TEHMADN  to the bearing don't fall on the ground (or similar misconduct). DAC35720027 35 72 27 27 043 | =00
b b (SERACNLETLY) . e g;zr?::';':gaé?u:f;:g%;’:g;ﬁg?;ﬁtséoald':t?lsesfﬂqgft s DAC35720033 | DAC357233B | 548083 3% 72 33 33 058 | CiroenS K Peugeoti s, ZEMR
: B g ANE 3 k ) ' 2
5. WEHMMRREHN, FECERFLBMANFERTS make the seal ring damage or dust or wanter into,this type of bearing Bt Tt A Bl |I-502000 S| w 2 056 | Tovome iR -
THEHE, TN2ESHESMESHKERLEEAN, X245 don't need to add grease in the whole life period.If there is excessive DAC35720433 | DAC3S7545CW2R 35 7204 33 33 058 | FatiElis,, La"”'aE_’gEE' TPO1.6
ﬁﬁﬁﬁ\ﬁﬁ%%z{%gﬂui']gﬂgma ﬁu%i$ﬂgﬁ§,§%ﬁ§§iﬂ grease, when bearing rotation, excess oil will seep.Experience in DAC35720034 DAC357234A 540763 548376A 35 72 34 34 0.58 F #1ZW7100,Hondacivic1.25F1.55G77.017R

A ZREVGEERSEL . —REW: ERERN, BENDEES
& A E]FRA50%

common: during installation, the amount of grease is to account for
50% of the bearing clearance.

R H

B4



S
Bearing No.
NSAR

DAC36640042
DAC36680033

DAC37680045
DAC37720033

DAC37720037

DAC37720237
DAC37720437

DAC37720052/45 |

DAC37740045
DAC38700037

DAC38700038
DAC38710039
DAC38720034

DAC38720236/33

DAC38720040

DAC38730040
DAC38740050
DAC39680037

DAC39680737

DAC39720037

DAC39720637

DAC39740034
DAC39740038
DAC39740039

DAC39/41750037

DAC40680042
DAC40720036

DACA40720037

DACA40740036/34

DAC40740036
DACA40740040
DAC40740042
DAC40750037

DACA40760033/28

DACA40760041/38
DAC40800036/34

DAC408000302

DAC408000381
DAC40820040

o5

http://www.nsarbearings.com

Hfbm il s
| Other Brand Model
| BARIKOYO (fEEFAG
DAC3668AWCS36 805172 BAH0087
562398
527631
DAC37720437 562398A 468683CA
| 541521C 816359
ZFRTBRGH0037
DAC3870BWCS41
| DAC3870DWCS41
| DAC3872ACS42
DAC3872W-3CS72
DAC3872W-8CS72
| DAG3872-WCS81
DAG3872W-10
DACI872B12RSCS42 | O o008
DAC3973-1 DAC38732B12
RSCS53 3873W-12RSC5
' 439622C 803374 528810
BhGamaat | 528820 540733BA
DAC3972AW4 DAC3972D  542186A 524096 581169
2RS 579794CA
542186CA
| BAHB636096A 579557 581108CA
DAC39/41750037 5674478
DAC40T2 566719 455608
| DAC4074CWCST3 '
| DACA074BW
DACA407440 559493/801 136
DACA074W-3
559494
539166A8
DACAO7641 2RS 559226
DACA080MICSE8M
523854
| 5346828

36

37
37

37

37
37
37
38

38

39/41

40

40

40

40

40

40

40

S R ~T
Dimensions(mm)
D B
64 42
68 33
68 45
72 33
72 37
72.02 37
72.04 37
72 52
74 45
70 37
70 38
71 39
72 34
72.02 36
72 40
73 40
74 50
38 37
68.07 37
72 37
72.06 37
74 34
74 38
74 39
75 37
68 42
72 36
72 37
74 36
74 36
74 40
74 42
75 37
76 33
76 M
80 36
80 30.2
80 381
82 40

42
33

45
33

37

37
37
45
45
37

38
39
34

33

40

40
50
37

37

37

37

34
38
39

37

42
36

37

34

36
40
42
37

28

38
34

30.2

38.1
40

FE
Weight(kg)

0.46

047

0.72
0.50

0.59

0.59
0.59
0.70
0.79
0.56

0.57
0.62
0.54

0.56

0.63

0.67
0.85
0.48

0.48

0.60

0.60

0.60
0.65
0.66

0.62

0.51
0.54

0.55

0.58

0.62
0.66
0.7
0.62

0.54

0.70
0.74

0.68

0.80
0.80

ERER

Use In Automotive

SUZUKI SWIFT1.0 86-89,1.384-89,GTL 1%

K, AE

Fiat3E T 4% Fordi@4¥, Lancia®iET,
Renault19-2188 &, Chrysler? SEHTE)
Chrysler= 3£ 8 #)

Chrysler7 38 40

BMWED, OPELEIE, Fordigfs

SANTRO-FWIR . KIAR TE

| B #7100 ChardeTJ7100% 5135 £ 4136 B

m, &%

Toyota Yaris 99 = B, & /2000

HondaZx

Honda# H, RoverBffE, Toyota90369-
3801011 H

Honda44300-SB3-961/27 A

Honda Fit1.3, 1.5, 1.6&H

' Nissan/2

FordiE4¥, AudiBi, SantanafRifdl,
Mazda6-26, Passatffii=is, % &
VolkswagenX £, FordiE4s, Audifd

H, , Chryslerszsehi#h

BMWED, OPELEXE, Ford#E4%¥, Bedford
NEE4EF, MonzaD Bik, Vauxhallik 77

| BR, RIEH2000%

BMW=D, OPELER=, Fordig4¥, Bedford
M, Vauxhalik TSR

' OpelEi=, Vauxhallk 5 878/ |
Audi80 1.6-284381, Passatiflii=4%, Golf111-

Vento, Swift1.6

| Volkswagenk &, Seatf§ 4%, #ik, &
| FaQQ

T, 3 7 T ProtonB 3 &

| MazdaB Bk, KART

 FordiE4¥, Audi10088it

Chrysler523€#7%), Roverffi/g,
Volksw agenX £
Honda# M, RoverBi&

| GMEF, Mitsubishi=%, MR HKHE

Peugeotdi &, Misubishi=#, TalbotdF,
Simcafi i, Volvoik Rik

BE

Bearing No.
NSAR
DACA08402538
DACA40840034
DAC40840038
DAC401080032/17
DAC42720038
DAC42720038/35

DACA42750037

DACA42760033
DACA2760037/35
DACA2760038/35
DAC42780038
DACA42780040
DACA2800036/34
DAC42800037
DAC42800342
DACA42800045

DACA42820036
DAC42820037
DACA42840036

DACA2840037
DACA2840039
DACA3760043
DACA3770042138
DAC43790045
DAC43800038
DACA3800050/45

DACA3820045

DAC43/45820037
DACA4825037
DACA5800045
DACA5800045/44
DACA5830045
DAC45840039
DAC45840041/39
DAC45840042/40
DACA5840042
DACA5840045
DAC458500302
DAC45850041
DAC45850051
DAC45880045
DACA7810053
DAC48820037/33
DACA9840048
DACA9880046
DAC50900034
DAC50900040

A& EKOYO

‘Du4272C

DAC4275BW2RS DACA275

'DACA278A 2RS

DAC4080MA

DAC4280w -2
DACA4282

DAC4380ACS69

DACA4382W-3
DAC4382W-3CF79

DACA458439BW

' DACA4584DW

'DAC2004

BTHB329129

HitmhER S
Other Brand Model

EEFAG

| 521771 533953

533953 54595D 521771

555801

' 527243¢ 582226

561481 588226

| 565636

564727

| 5433598

| 579943B

567519A 800941C

564725AB

| 547103E43BW03

| 580191

DU4984-7

572506E

528514

40
40
40
42
42

42

42
42
42
42
42
42
42

42
42
42
42

42
42
43
43
43
43
43

43

| 4345

44
45
45
45
45
45
45
45
45
45
45
45
45
45
48
49
49
50
50

AN T

Dimensions(mm)
D B c
84025 38 38
T
84 38 38
108 32 17
72 38 38
72 38 35
75 37 37
76 33 | 33
76 | 37 | 35
76 | 38 | 35
% | 58 | 28
78 40 40
80 36 34
80 37 | a7
8003 42 42
80 45 45
82 36 3
82 31 | 37
84 3% 3
84 37 37
84 39 39
76 43 43
77 42 38
79 45 45
80 38 38
80 50 45
82 45 45
82 31 | a7
825 37 37
80 45 45
80 45 44
83 45 45
84 39 39
8 41 | 39
84 42 40
84 42 42
84 45 45

85 302 302 |
8 41 M

85 51 51
8 45 45
81 53 53
82 37 3
8 48 48
88 46 46
90 34 34
9% 40 40

ht_t_‘p://www.nsarbearings.com

FE
Weight(kg)

0.97
0.94
0.96
1.04
0.56
0.52

0.59

0.65
0.56
0.62
0.70
0.66
0.81
0.70
0.82
0.86

0.77
0.79
0.84

091
093
0.7
0.64
0.84
0.75
0.96

0.96

0.76
0.73
0.80
0.95
0.60
0.85
0.85
0.90
0.90
0.98
0.63
0.89
1.00
1.15
0.95
0.82
0.89
1.05
0.83
0.98

ERER
Use In Automotive

Renaults i

' Renault 18GTXE i%

Mazda 626-2w d(GD)89-30% B i&

 Subaru Legacy 4WDHF B & 7195, Nissan 2

Alfa RomeoBd /R 3% ZHEL, Audi100-
200Quoattroidl, Porschefkffi, Saab4f
%, BMW=D

Nissanfg #
Honda Legend 2.51 24V 864 H

Hantraff 2 4%

Alfa Romeold /R 3% 5 B &L

BMWZED, Chrysleri 3HT#

Mazda3 & &

CiroenZ £, GMER, MER, Peugeot
306-405% ML#5 &

Audif i

Peugeotir &, TabotiriE-HE/R{A%E, Simca
i ony

| Renault® i, Peugeotizis

 Audi 2008 ji

Toyota Canry2.21,3.01 91FH

Audif i1, Chrysler 5z 3 H £
CitroenE# £, Peugeottr &

| Mazda® Bi&

CitroenE # 4, Peugeottzik

R, BME

Mitsubishi= %

FHEAXR

| Ford#&#F, Benz#H

‘ BenzZE Ht

56



